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Mark As Answered Required? : Yes

Sub-Section Number : 1

Sub-Section Id : 80243742

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 8024371191 Question Type : MCQ Option Shuffling : No Is QuestionsMandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Suppose a? + b? =4(a +3b-10), where a and b are two real
numbers. Then which of the following is true?

M a>p
2 a<b
3 a=b

(4) From the above equation nothing canbe said about the

relationship between a and b.
Options :
8024374761. 1
8024374762. 2
8024374763. 3
8024374764. 4

Question Number : 1 Question Id 8024371191 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks® 0.5
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T T a2 + b2 =4(a +3b-10), STET a @< b =T TIHA=F =TT 2 |

7 9 T T FrA-A7 70T 22

(1) a>b

(2) a<b

(3) a=b

(4) ST THIEIW T a AT b & TEAE T9dg F T H T AT
TRl Fal 9T aHav 2 |

Options :

8024374761. 1
8024374762. 2
8024374763. 3
8024374764. 4

Question Number : 2 Question Id : 8024371192 Question, Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

If the day after tomorrow is NQT.Eriday then which of the following
day CANNOT be the day before the day before yesterday?

(1) Sunday
(2) Monday
(3) Tuesday
(4) Wednesday
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8024374765. 1
8024374766. 2
8024374767. 3
8024374768. 4

Question Number : 2 Question Id : 8024371192 Question Type : MCQ Option Shuffling : No Is Question"Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

AT AT TTA FA T A2 F7 &7 A T80 8, 91 5 7 7 F9-47 g7
o5 g 77 1 7 Pt T o o Y Ay e 2

(1) vF==
(2) sraT™
(3) HEET

(4) FFATT
Options :
8024374765. 1
8024374766. 2
8024374767. 3
8024374768. 4

Question Number : 3 Question Id 28024371193 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks«: 0.5
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Which of the following words can be formed using only the
letters of the word

“FLOCCINAUCINIHILIPILIFICATION"? When forming a word
you can use a letter at most as many times as it appears in the
above word.

M) PHILIPPINES
(2 CHINCHILLA
(3) CINCINNATI

4) NATIONALITY
Options :

8024374769. 1

8024374770. 2

8024374771. 3

8024374772. 4

Question Number : 3 Question Id : 8024371193 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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A5 & T F19-97 958 Fad 3T AA F FId g0 AATAT AT Tl

2 57 % == & 7 a2 “FLOCCINAUCINIHILIPILIFICATION” &

TART g0 22 92 AR F7d T80T A1 UF A7 F7 ATAFAH IaA1 a2
TN FT TG 2, o=t a7 78 F97 =70 A0 o7 7 TR g 2

(1) PHILIPPINES
(2) CHINCHILLA
(3) CINCINNATI

(4) NATIONALITY

Options :

8024374769. 1
8024374770. 2
8024374771. 3
8024374772. 4

Question Number : 4 Question Id : 8024371194 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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drawn from the box at random, one by one without replacement.
What is the probability that the second ball is red?

(1) 172
() 5/11

(3) 3/10
(4) 9/16

Options :

8024374773. 1
8024374774.2
8024374775. 3
8024374776. 4

Question Number : 4 Question Id : 8024371194 Question Type ::sMCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T o= T 10 1T &7 12 e g | IFH I T & 975 UF 273
foreT aferearioa o amgf=ars = SfSwTet STdt £ | g 9 % @
2= ¥ aTraar AT 2 2

(1) 1/2

2) 511

(3) 3/10
(4) 9/16
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8024374773. 1
8024374774. 2
8024374775.3
8024374776. 4

Question Number : 5 Question Id : 8024371195 Question Type : MCQ Option Shuffling : No Is Question"Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Three containers, namely cylinder, square prism and trangular
prism, are given. Which one of the following conditions™will
ensure that they have identical volume?

(1) Their base areas and heights are identical
(2) Their base areas are identical

(3) Their heights are identical

(4) Their base areas and heights are/differént
Options :

8024374777. 1

8024374778. 2

8024374779. 3

8024374780. 4

Question Number : 5 Question Id: 8024371195 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks 0.5
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&t o 5w T g, & s, At O & Bt Uem 2
T T FA-HT U O T AT Fodl g (9 A1 T AT ooge

THT ZINT 2

(1) 39 AT & AT AT IAT SATAT U T ¢ |

(2) S AT F AT TF THTT 2 |

(3) ST SHTAT UF THI E |

=X i e S ¥ oy o ) 2.
(4) ST ATATIT % &AAHA AT IAT SATSAT (9H 3 |
Options :
8024374777. 1
8024374778, 2

8024374779. 3
8024374780. 4

Question Number : 6 Question Id : 8024371196 Question Type: MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

An apple is fully cut vertically through its centre 4 times such that

successive cuts are spaced.at45° in clockwise direction. How
many pieces are made?

(1) 4
(2) 16
(3) 8
(4) 12
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8024374781. 1
8024374782. 2
8024374783. 3
8024374784. 4

Question Number : 6 Question Id : 8024371196 Question Type : MCQ Option Shuffling : No Is Question"Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T T H SHF hF H Bid g0 4 TT SEATHY T q9E FHIEL EGT e
ST FaTd TEETT 45° FI07 U7 IrETAd T § AT | g, o

SATT A7

(1) 4
(2) 16
(3) 8
(4) 12

Options :

8024374781. 1
8024374782.2
8024374783. 3
8024374784. 4

Question Number : 7 Question Id:: 8024371197 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Bottles are to be packed in boxes. If 4 bottles are packed in a box
then 3 boxes are left unused, but if 3 bottles are packed in a box
then 3 bottles are left unpacked. The total number of bottles is O

(1) 36 C)
(2) 52 & .
(3) 40

(4) 48 \

Options : O

8024374785. 1 Q

8024374786. 2

8024374787. 3

8024374788. 4 6
Question Number : 7 Question Id : 8024371197 Question T; %Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5 O

QO
Q-
$$
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AT FT (SoaT | OF FIAT S | A2 4 AAAT &1 TF o9 § OF (54T
FETE A7 3 o= AT ST F I A9 g | g TS 3 AT T UF
S & % a7 Sar 8 a7 3 T dF e H gE ATl 8 | qradl o

TA AT ... 2 |
(1) 36
(2) 52
(3) 40
(4) 48

Options :

8024374785. 1
8024374786. 2
8024374787. 3
8024374788. 4

Question Number : 8 Question Id : 8024371198 Question“Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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A tower is 50 m high. When the sun’s altitude is 45°, the shadow
of the tower is x m shorter compared to the case when the

altitude is 30°. The value of x is O

(1) 50(+/3 — 1) O

@ 50(v3+1) K .

(3)50/(V/3) O\

4) 5043

Options :
8024374789. 1

8024374790. 2
8024374791. 3
8024374792. 4

Question Number : 8 Question Id : 8024371198 Questio Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5 \0
0\( >
4

\S

QO
\@*
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e Y g o ¥ 300 FY S Ary Y qere #F S St

Tl XFTHNH..E
©

(1) 50(v3 —1)

\
(2) 50(v3 + 1) 0o
o

(3) 50/(V3)

(4) 50v3 \Q

Options :
8024374789. 1

8024374790, 2
8024374791 3
8024374792. 4 Q

Question Number : 9 Question Id : 8024371199 Q Qpe MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

‘Q

Q-
\@*
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The year BP, in the context of radiocarbon dating, is defined as
Years (BP) = 1950 — Years (AD)

An object from the Harappan site was dated to be 3050 BC. Its O
age in years (BP) is C)

(1) -5000 & .
(2) —=1100 \

3) +1100 Q)

@ +5000 \Q

Options : O

8024374793, 1 6

8024374794.2

8024374795. 3

8024374796. 4 Q

Question Number : 9 Question Id : 8024371199 Q\Qpe : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5 . O

@.
\$$
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a9 BP, YRarehTae A M4l aae i & 929 H, 39 g 9
afrefie 2 7 (BP) = 1950 — &t (AD)

SETT & I | UTH Ua g&q =t &g 3050 BC Haiiva g2 | et
a7 ay (BP) #...8 |

(1) =5000
(2) =1100
(3) +1100
(4) +5000

Options :

8024374793. 1
8024374794. 2
8024374795. 3
8024374796. 4

Question Number : 10 Question Id : 8024371200 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Which of the followinig Ronths i 2621 Wil Ve e gamme comact 170210720

calendar (the same days and dates) as that in Sept 20207

(1) March
(2) April
(3) November

(4) June
Options :
8024374797. 1
8024374798. 2
8024374799. 3
8024374800. 4

Question Number : 10 Question Id : 8024371200 Question Type : MCQ"Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

79 2021 ¥ B ° 7 5 o2 F71 Feigean.2020 F Fraee mEe F

2 =, ™ -, Lo O
FAST F THT g (F2f =, 51 ZHia)y?

(1) ==
(2) =
(3) Ta
(4)

Options :

8024374797. 1
8024374798. 2
8024374799. 3
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Question Number : 11 Question Id : 8024371201 Question Type : MCQ Option Shuffling : No Is Question Manda : No

Correct Marks : 2 Wrong Marks : 0.5
Find the value of x at which the given straight line crosses the C)

X-axis.
& o
4 (3.6) O\

M1.2 \O®

(2) 1.5

Options :

8024374801. 1
8024374802. 2
8024374803. 3
8024374804. 4

(3) 2.2 ¢ O
417 \Q\
L 4

Question Numbe estion Id : 8024371201 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Set &t WS Tfreft A X < A ] ATEA £, Ael X AT T UTH F 0

y S
&

&

(1.-2)

(1) 1.2 C\JQ

2) 1.5 6

3) 2.2 ®

4) 1.7

onins: O\O

8024374802. 2 \
8024374803. 3
8024374804. 4

Question Number : 12 Questi
Correct Marks : 2 Wron

For Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266



For Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266

Five persons A, B, C, D and E form a queue. C and E are next to
each other. A has one person ahead of him and has at least one
person separating him from B. Which of the following statements
is certainly true?

(1) A and D are next to each other
(2) A and E are next to each other

(3) D and E are next to each other

(4) B and C are next to each other
Options :

8024374805. 1

8024374806. 2

8024374807. 3

8024374808. 4

Question Number : 12 Question Id : 8024371202 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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7= AR A B, C DTTETHF fqe aATd 2 ICTTI ETH-T 2 | A
% SN TF Fh 3, AT IA% A7 B & #19 § FF F FH UF A+ 2
M FA-TTFIF Mg =TT TT 5 ?

(1) A &= D TT9-977 2 |

(2) A &7 E Te-TTH 2 |

(3) D &7 E 9T9-77 £ |

(4) B &= C aTo-TT £ |

Options :

8024374805. 1
8024374806. 2
8024374807. 3
8024374808. 4

Question Number : 13 Question Id : 8024371203 Question TypexMCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Which of the followmg graphs qualitatively show(s) the function
§ =07

(A) (B) (C) C)

log y
y
y 112

X X X

(1) B and C but not A \Q

(2) Aand B butnot C
(3) Only B

4)A, Band C
Options : O

8024374809. 1
8024374810. 2
8024374811.3 \

8024374812. 4 Q
Question Number : 13 Question I$80213 203 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Mark

\$$

For Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266



For_Online Coaching of life smen&e_ visit: www.biolo sac%(_)lar cam, or conjact: +§1 -7021673266

=5 & T FIT-A7(T) TTF TOHE &7 T FAT y = x (E—‘?

(¥)?
A B) ©) C)

log y
y
y12

X X

() Bma CTw AFES ()Q
(2) ATE BT C 7T 6

(4) A,BTAC O
Options : \
8024374809. 1

8024374810. 2

8024374811. 3 \
8024374812. 4

Question Number : 14 Questi
Correct Marks : 2 Wron
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Four babies born in the month 6 riTSé 1§ are’random y selected.

The probability that at least two of them will have the same date of
birth is,

(1) 81.2%

(2)18.8%

3) 13.7%

(4) 86.3%

Options :

8024374813. 1
8024374814.2
8024374815. 3
8024374816. 4

Question Number : 14 Question Id : 8024371204 Question Type ::MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T 2019 % oier # =7 U 4 forgpateanarg>a® =7 T 5= e srrar
2| SHE T FT T T 2 TOAET S eATE UF 5 oA il uTiawar .

=

(1) 81.2%
(2)18.8%
(3) 13.7%
(4) 86.3%
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8024374813. 1
8024374814. 2
8024374815.3
8024374816. 4

Question Number : 15 Question Id : 8024371205 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

A chord AB in a circle subtends an angle of 30° at the circumferance.
Then the angle subtended at the circumference by a cherdoftwice
the length of AB is

(1) 450

@ 600
(3) 900

(4) 1200
Options :
8024374817. 1
8024374818.2
8024374819. 3
8024374820. 4

Question Number : 15 Question 1d%,8024371205 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks«: 0.5
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T g9 9 T SEr AB T~ 300 =T 197 AT Hidl %“ | 99

AB #Fit =T AT @=TE #¥ SHET ZIT IR0 9T At U ST JTr &7
Zl

(1) 450

(2) 600

(3) 900

(4) 1200

Options :

8024374817. 1

8024374818. 2

8024374819. 3
8024374820. 4

Question Number : 16 Question Id : 8024371206 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
In a race, the winner beat the*second placed by 10 m and the third

placed by 100 m. The secondwplaced beat the third placed by 91 m.
Assuming that the speeds of the runners remained unchanged

throughout the race, thedength of the race track was

(11000 m
(2) 900 m
(3) 910 m

(4) 909 m
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8024374821. 1
8024374822.2
8024374823. 3
8024374824. 4

Question Number : 16 Question Id : 8024371206 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T e §, AT @ T a7 a =i w10 #f & S e @
#1100 HY. 7 T T TT0aT1 8 | TY AT ¥ AT SAE A6 T, A
F1 91 HT. T ZemaT 3 | TfR, 7ly arent 7 vy T St 7 guRatg 1,

it e Pralt g A oAt 2

(1) 1000 m
(2) 900 m
(3) 910 m
(4) 909 m

Options :

8024374821. 1
8024374822.2
8024374823. 3
8024374824. 4

Question Number : 17 Question Id : 8024371207 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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o half'circles

For O
A square of side 2 Units contain as shown'in
figure.

f& ‘

The area of unshaded region inside the square.
(1 3—m/2
(2) 4 —m/2 OQ
3)3—-m/4
)4 — /4 \O
Options :
8024374825. 1
8024374826. 2
8024374827. 3
8024374828. 4
Question Number uestion Id : 8024371207 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : ng Marks : 0.5
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T 2 THTE ST AT TN H 2 AT THIAT g, SET 1o =01 | ST
TS | ﬁ%ﬁﬁ?ﬁ?-mﬁﬁﬁw...%l

-

(1) 3—m/2
(2) 4 — /2
(3) 3—m/4
(4)4—m/4
Options :

8024374825. 1
8024374826. 2
8024374827. 3
8024374828. 4

Question Number.: 18 Question Id : 8024371208 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Tha nairad har ~rhart nivae tha Par Manita NP and nantilatinn nf a
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country from year 2000 to 2008. Given that
Per Capita GDP = Total GDP/Population

; =8
14,
13.
T2
2 B
10.

e

o he RN R e BN GRS R

m GDP percapita B Population (in Million) \

k!
]
"u 'i'

o
.IJ

h

P ATy

Fuaied
g

=
L

i

il

1

24

=

2000 2001 ¢ 2Q02

The highest percentage decrease in the total GDP of the country

el T el ‘I'l"lﬁ ﬁf‘ﬁtfiﬂl e~ Y i/Mm™AaF LLr~sae iﬁ 'I'I"'\.I"\ (S Faltel o
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(1) 2002
(2) 2003

(3) 2006
(4) 2008

Options :

8024374829. 1
8024374830. 2
8024374831. 3
8024374832. 4

Question Number : 18 Question Id : 8024371208 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T ST 17 AT Tt 297 &t, a7 2000 52008 T Ui =11 Tahed 79
3ear (Per Capita GDP) T s, (pepulation) T gertar 2 | =T
T g - 9T FTI=F Tl 9] 3eAT8, =37 Tohed A SeTw / STAHET]

15.
14. | N
| N

o N

11. i & © = -
10. | o |

m GDP'pereapita - B Population (in Million) 12

© =2 10
8 o]
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T AT A JAAT H 60 AT H FA T TG SIS | ATAHITH HHT

(1) 2002
(2) 2003
(3) 2006
(4) 2008

Options :

8024374829. 1
8024374830. 2
8024374831. 3
8024374832. 4

Question Number :'19"Question Id : 8024371209 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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A 400 m wide fivar fiows &t ™10 Km/fi. "A man atpoint & wants o™

cross the river. In still water he can row a boat at a maximum
speed of 20 km/h. Point B is exactly opposite A on the other
bank. If he wants to cross the river in the least possible time then
how far from B will he land on the other bank?

7

B

1 0kem/h
400 m )

i
P

A

(1) 200 m.
(2) 100v3 m.
(3) 0 m.

(4) 50 m.
Options :
8024374833. 1
8024374834.2
8024374835. 3
8024374836. 4

Question Number : 19 Question Id : 8024371209 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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e 400 T ST AST 10 TRt foer Sf A H Seat e | g ARt o
TTF 721 977 F2A7 F12a71 2 | =97 91 9 5% =71+ 20 &.91./5er i1
T T AT =TT THAT 2 | &g B T oA 97 &g A F foega =g
g | T g FATh =IAdH T0T | 71 I FIAT F1gaT g af 9g 9g BT

]
=

i . [ o O ™ ! .
Tha AT 21 TT TAL [ohATE I Tg=T ?

—r—=10km/h
I (O
A

(1) 200 =.
(2) 100V3 9.
(3) 0 .

(4) 50 .

Options :

8024374833. 1
8024374834.2
8024374835. 3
8024374836. 4

400 m
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Question Number : Zd: &ru%g]tliglel (i) 8%5230;15?(? %eune%et'\lo}lll tyl\)’\éwvﬂfﬂ?& S%ﬂ)%l oﬁjﬁl?é? (t)aft Q+1glls21%%1 ggggtory : No
Correct Marks : 2 Wrong Marks : 0.5
In a cycle of spread of the infection, each person infects 3 more

people. One third of the newly infected people take precaution
and do not infect other people. No infected person dies or gets
cured until the end of third cycle of the spread. Starting with one
infected person, the number of people newly infected in thesthird
cycle is

(1) 12
(2) 15
(3) 27
(4) 30

Options :

8024374837. 1
8024374838.2
8024374839. 3
8024374840. 4

Question Number : 20 Question Id : 8024371210 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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“#lH'FhH”I%'hE"H'ﬂ ™ At eh 4 ITh 3"”3 “IThd HalHd shidl

T AT HHIHT ARN J F TF (dgre aTagT=T 7@ g A7 gh70 ®T TR Ha

- [

S Fd | Fe figRAa = T IF F daa a5 T3 AT 2 AT

Fri-ﬁm—rrr 2| U FAE H AF F7 G197 9% H 70 Tohiga ANt
(1) 12
(2) 15
(3) 27
(4) 30
Options :

8024374837. 1
8024374838. 2
8024374839. 3
8024374840. 4

Part B Life Sciences

Section Id : 80243729
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be:attempted : 35

Section Marks : 70

Mark As Answered'Required? : Yes
Sub-Section Number : 1
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Sub-Section Id :
Question Shuffling Allowed :

Correct Marks : 2 Wrong Marks

Yes

: 0.5
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Question Number : 21 Question Id : 8024371211 Question Type : MCQ Option Shuffling : No Is Questio@ tory : No

Which one of the following options represents a series of the amino acids with

the decreasing pKj; values of their side chains?

1. Arg Lys Cys His
2Lys Arg Cys His
3. Lys Arg His Cys
4 Arg Cys Lys His
Options :

8024374841. 1
8024374842.2
8024374843. 3
8024374844. 4

\Qo

G

Nl

Question Number : 21 Question Id : 8024371211 Qype MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks :

eifeed o1 91 ts faeey urd
HghH B Gidl 87

1. Arg Lys Cys His
2. lys Arg Cys His
3. Lys Arg His Cys
4. Arg Cys Lys Hj

Options :
8024374841. 1

0.5

wﬁqpﬁf qHl & Tl 3l & Us
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8024374843. 3
8024374844. 4

Question Number : 22 Question Id : 8024371212 Question Type : MCQ Option Shuffling : No Is Questi @datory : No
Correct Marks : 2 Wrong Marks : 0.5

The mechanism of oxygen transport by hemocyanin (containing Cu) is described K ¢
by cu’.cu’+ 0, =Cu?* .02 .cu?*

Which one of the following techniques can be used to monitor the change in 1@

oxidation state of copper?

1. Mass spectrometry

2. Circular dichroism 6
3. Absorption spectroscopy

4. Fluorescence spectroscopy Q
Options : O

8024374845. 1 \

8024374846. 2 O

8024374847. 3

8024374848, 4 Q\

Correct Marks : 2 Wrong
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BN (Cu gad) BRI STaiTo URde o fobaniald i 34 gRI afvid fdar
SISl Cyl*, Cul* + B, =00 .nt

fifed T TP de-id &1 SUdi did & GUIHI0 axdT § 9gamd @i O
Sfadilicrd B @ [oQ T ol bl ¢ ? O

1. SO WaeHHd & ©
2. giig giqauiar

3. YN0 W THa] @

4, yiaeifta Saeidt O

Options :

8024374845. 1 Q

8024374846. 2 O

8024374847. 3 6

8024374848. 4

Question Number : 23 Question Id : 8024371213 Question Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

A stoichiometric mixture of @ and f anomers CN se in water exhibits

1. net optical rotation proportional to th\ the optical activities of each

anomer
2. no optical activity as the signs of op tation are opposite and they cancel

each other 'S
anomers exist in the linear forms that are

3. no optical activity as the
optically inactive

4. no optical activity rm a racemic mixture

Options :
8024374849. 1
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8024374851. 3
8024374852. 4

Question Number : 23 Question Id : 8024371213 Question Type : MCQ Option Shuffling : No Is Questi @datory : No
Correct Marks : 2 Wrong Marks : 0.5

DTGB & o qUI g UHRI D Uh IWFHIGUIHAT fargyor urit H geid & |

1. TE® TR & U SRiEE! B 9N ¥ e o 4au i \(b
2. Big ol UBTRIg sEfway Ta1 el difes gaur guiH o ddbd [Audid & aur d

T B Ay B ed g |

3. @5 o ueRTg Friea™ 981 s |@ifd o Tu Qﬁ?ﬁ?@fﬁ
EREERRE wwmﬂumﬂﬁ@m%ﬂﬁ%l

4. Bis Yl ysTeiig Srddand I8 sl wdife d U JHe

Options :

8024374849. 1 O
8024374850. 2

8024374851. 3 O
8024374852. 4 \

Question Number : 24 Question I 8021;:;214 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Mark
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The rate constant for conversion of a substrate into the product is 707 577 while
the reverse rate constant is 70°% 7 . An enzyme enhances the rate of this reaction

by 100-fold. The equilibrium constant for this enzyme-catalyzed reaction is O
1.100 < :

2. 10000
3.10

4, 1000 ‘r225:5§>
Options : \
8024374853. 1 O
8024374854. 2

8024374855. 3 Q

8024374856. 4 O

Question Number : 24 Question Id : 8024371214 Question Type :
Correct Marks : 2 Wrong Marks : 0.5

U G BT IUIG H BUI &1 63 Fdid 10+ 5
10-5s-t © | U UoigH Hffhar &1 X @1 100-
ififeraT &1 9 Fadi® &

o Fadi®

i

1.100 * <:::’D
2. 10000 \
3.10 <~~‘:::’
4,1000

Options :

8024374853 1

8024374854. 2

8024374855. 3
8024374856. 4
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Question Number : 2§: 6u%§]&3% ?&) a%ggﬁ 1'5?§ (éellne% ion Sfiyp WVM)CO&? Qyp%?{aglﬁ?fﬁir?é C%taft Gues '021 2nglstory : No

Correct Marks : 2 Wrong Marks : 0.5

Which one of the following is NOT involved in the formation of lipid rafts?

1. Sphingomyelin

2. Cholesterol

3. Glycolipid

4. Phosphatidylserine

Options :

8024374857. 1
8024374858. 2
8024374859. 3
8024374860. 4

Question Number : 25 Question Id : 8024371215 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

fFifed @ 91 U fafts 981 & HHiu § idd Teaie

1. SR ATHEER
2. Pl

3. TGS
4, BB EaHRA

Options :

8024374857. 1
8024374858. 2
8024374859. 3
8024374860. 4

Question Number : 26 Question Id : 8024371216 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Which one of the following statements about human LINEs (long interspersed
nuclear elements) is FALSE?

1. LINEs are located primarily in euchromatic regions O
2. LINEs cannot encode all the products needed for their retrotransposition, and
are dependent on SINEs for some  components. C)
3. Of the three human LINE families, LINE-1 is the only family to have actively &
transposing members.

4. Active LINE-1 elements possess an internal promoter  located within the \@
untranslated region. O

Options :

8024374861. 1
8024374862. 2
8024374863. 3
8024374864. 4

Question Number : 26 Question Id : 8024371216 Qype MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5 .

HI-d LINEs (long interspersed nuclear elen\ I f=ifsd o1 T U
HUF T 57

1. LINEs a1 g iafed uamEt
2. 30 URAUETIRY & oY

&S Ueh| o [o1U SINE
3. OHd LINE &I dH
4, Ty LINE-1

6l

HERG®H IAG| B e ol B Godl 6, adl
gl

LINE-1 907 T g&fideur Oihg Hew Ul 9 81
U&E H Us HidRe 34 Hayd gidai g |

Options :
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8024374861. 1

8024374862. 2
8024374863. 3
8024374864. 4

Question Number : 27 Question Id : 8024371217 Question Type : MCQ Option Shuffling : No Is Qu@\/ﬂandatory : No

Correct Marks : 2 Wrong Marks : 0.5 K
L 4

Myosin molecules that assemble into bipolar filaments in the muscle are
2. Myosin

3. Myosin IV
4. Myosin V

Options :

8024374865. 1 6

8024374866. 2

8024374867. 3

8024374868. 4

Question Number : 27 Question Id : 8024371217 \f EQype : MCQ Option Shuffling : No Is Question Mandatory : No

1. Myosin | \

Correct Marks : 2 Wrong Marks : 0.5 *
ARG Sy o for AuRial i Bl g |

1. AARH |
2. AEfEA ¢
3. AEfEE v
4. FEARE VY

Options :
8024374865. 1
8024374866. 2
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8024374868. 4

Question Number : 28 Question Id : 8024371218 Question Type : MCQ Option Shuffling : No Is Questio ory : No
Correct Marks : 2 Wrong Marks : 0.5

Which of the following statements about R-banding of metaphase chromosomes C)
is FALSE?

1. The heat treatment preferentially denatures the GC rich DNA to produce R\@

banding pattern.
2. This is essentially the reverse of the G-banding pattern.
3. The R bands are Q (quinacrine) negative. Q
ell c

4. The DNA of R bands generally replicate early during the S- phase of

Options :

8024374869. 1

8024374870. 2 O
8024374871. 3

8024374872. 4 \O

Question Number : 28 Question Id : t@ls Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks :40.5

¢
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HHAGR] US| & R-af57 & UeH H Fifdd dH 91 Us HY- 7Tad 87
1. SSHIG AT GC Y DNA @l [ddhd ddl & forgd R-dfE7 W 3d= gidl

: O
2. dd H 48 G-dFS7 Wy &1 fqudd g “::"

3. R Ul (4759) Q (@A) BUTHES sidl o
4, R Ul (6-58) & DNA &I JH-ICAI S- TRUI & GRH Seg] Wadpara sidl o & .

Options : \

8024374869. 1

8024374870. 2

8024374871. 3 Q

8024374872. 4 O

Question Number : 29 Question Id : 8024371219 Question Typ%@tion Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Which one of the snRNAs given below base pairs with 3’ te"of pre mRNA?

1. U \
2. U, .

3. Uy \

4. Us Q

Options :

8024374873 1 *
8024374874, 2
8024374875. 3
8024374876. 4

Question Number 29 Question Id : 8024371219 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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FYTifD B T UD sHRNAS U mENATS 5 SR e W R apae el &
1. U4
2. Uz
3. Uy O
4. Us O

Options :

8024374873 1

8024374874. 2 @
8024374875. 3 \
8024374876. 4 O

Question Number : 30 Question Id : 8024371220 Question Type : MCQ Qﬂing : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following RNAs possesses the peptidyltra n@/ty?

1. tRNA
2. 35 rRNA

3. 165 rRNA O
4. 23S rRNA \
Options : L 4 O
8024374877. 1 \
8024374878.2 Q
8024374879. 3

8024374880. 4 &

Question Number : 30 Q ion Id : 8024371220 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 W rks : 0.5
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F#ifcd RNAs 5 U D U1 U ULTRISagiRb el dRiday YR Hdl 57

1. tRNA

2. 55 rRNA O
3. 165 rRNA

4. 235 rRNA C)

Options : &
8024374877. 1 @
8024374878. 2 \
8024374879. 3 O
8024374880. 4

Question Number : 31 Question Id : 8024371221 Question Type : MCQ (@ uffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5 6
i0n is

Which one of the following statements about GAL gene ex FALSE?

1. GAL4 is a positive regulator of GAL genes

2. The UAS region that regulates the GAL gen x ors short, phased
AT repeats every 10 base pairs \

3. GALBO is a positive regulator of GAL4 e O

4. GAL80 is negatively regulated by GA

Options : 4
8024374881. 1
8024374882. 2
8024374883. 3
8024374884. 4

Question Number : 31 Question Id : 8024371221 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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GAL Wi & 3Afiedfdd & dey ¥ Aeifed @ 91 te $UH 79d &2

1. GAL4 GAL Wi &I Uh UhRIHD HUHD © | O
2. UAS Y&F ol fdb GAL SiiF @1 feaidd ol (Hafad &dl & 399 Udd 10 &R gl
R oY WU AT FRIGR Bl o C)
3. GAL8O GAL4 B T YBRIHS [aH® & & .
4. GAL80 GAL3 SR 7SRIHAS diid 4 Fafid gial g

Options : O
8024374881. 1
8024374882.2

8024374883. 3
8024374884. 4

Correct Marks : 2 Wrong Marks : 0.5
UV- induced DNA damage causes advancing reNerks to stall. To avoid a
collapse of these stalled replication fmks}he@

1. non-homologous end joining

Question Number : 32 Question Id : 8024371222 Question @ Option Shuffling : No Is Question Mandatory : No

2. lesion bypass
3. mismatch repair

*
4. base excision repair

Options :

8024374885. 1
8024374886. 2
8024374887. 3
8024374888. 4

For Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266



For Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266

Question Number : 32 Question Id : 8024371222 Question Type : MCQ Option Shuffling : No Is Question Mandatory. : No
Correct Marks : 2 Wrong Marks : 0.5

UV- URT DNA &ifd Wt Widdiaa= [9Rmansii & 3e1d & R §dl & | 39 38X O
ST HIdPiaa- el & [a-7=1 &1 2reH & iy SIS ST Hd B <: '

1. 3GHSTd BRI 4818 & .

2. & JUaT

3. 99 & GuUR \
4, &R Jede &fid gUR O
Options :

8024374885. 1 Q
8024374886. 2 O
8024374887. 3

8024374888. 4

Question Number : 33 Question Id : 8024371223 Question @ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following amino acids is chagagieNgtic of and is conserved in
response regulator of plant two—ccmponﬁﬁ\ s?

1. Aspartic Acid
2. Glutamic acid

3. Tyrosine ¢
4. Histidine

Options :

8024374889. 1
8024374890. 2
8024374891. 3

8024374892. 4
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Question Number : 33 Question Id : 8024371223 Question Type : MCQ Option Shuffling : No Is Question Mandatory,: No

Correct Marks : 2 Wrong Marks : 0.5

UIey fg-ged Uil & sfhar (4ame H Fifdd o 91 U THiAT 3 fafre

& TuT Oeféd a7 C)
1. THIe® 3% ﬂ‘;~><o

2. TCTiE® 3k

3. TTEARMA “\-~

I O

Options :

8024374889. 1

8024374890. 2

8024374891. 3

8024374892, 4 §
Question Number : 34 Question Id : 8024371224 Question Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
Which one of the following signaling molecules\ rotein or a peptide?

1. Transforming growth factor o (TGF—&,}‘\

2. Erythropoietin
3. Granulocyte colony stimulating fact

4. Epinephrine *

Options :

8024374893. 1
8024374894. 2
8024374895. 3
8024374896. 4
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Question Number : 34{: 6u%§]&8% ?8 a%ggﬁ 1'5%4? (éellne% ion Sfiyp WVM)CO&? Qyp%?{aglﬁ?fﬁir?é C%taft Gues '021 2nglstory : No

Correct Marks : 2 Wrong Marks : 0.5
Fifded 19 U1 U Joba AU U U1 I1 U UL S T8l o7

1. TURRY gfg PR ¢ (TGF-g¢ )

2. TRyEfe
3. YRS BIAH IR HR®

4, UfuATeA

Options :

8024374893. 1
8024374894. 2
8024374895. 3
8024374896. 4

Question Number : 35 Question Id : 8024371225 Question Type : MCQ.Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following is NOT an extracellular matrigprotein?

1. Keratin

2. Laminin

3. Collagen
4, Vitronectin

Options :

8024374897. 1
8024374898. 2
8024374899. 3
8024374900. 4

Question Numbery: 35 Question Id : 8024371225 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Feifthd B 1 T GBI A ST eSS &
1. PRI

2, THIEA
3, piaeH 0
2, R O

Options :

8024374897 1

8024374898 2 @
8024374899. 3 \
8024374900 4 O

Question Number : 36 Question Id : 8024371226 Question Type : MCQ Qﬂing : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

If you require to generate anergy in T cells, which of the followi ions will

you use?

1. Stimulate naive T cells with antibodies that bind both ecef@tor and CD28

2. Stimulate naive T cells with antibodies that bind @e gll receptor

3. Stimulate naive T cells with antibodies that bN cell receptor and CD28
in presence of IL-4 . Q

4. Permit naive T cell interactions with acti crophages in presence of IL-4

Options : Q
8024374901. 1

8024374902, 2 *
8024374903, 3
8024374904. 4

Question Number : estion Id : 8024371226 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : ng Marks : 0.5
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ofG 3Mud! T SifHEl § gafearqaal 38- ®1 8 dl Heiled ®F O 6

uffRfa &1 SugnT ®l?

1. 7d T-PIRIe Bt ufRel ¥ Ui B &) fb T-B IR U qur cp2s af O
AEE e Bl

2. d T-DifrdmTei & ufarel © Uftd @< &l fép daa T Sifre urgl 9 8 3dg gid

gl & .
3. 9a T-@i@e HI ufaee 9 uld & o i 114 31 Suffa & 1 Sifere 9t

dYT cD28 GHT ¥ 3fTag gid \
4.4 T-HIRD13 BT =g 1L-4 BT Juftufa J Tihadd HeHad d gH

AT TG B Q

Options :

8024374901. 1
8024374902. 2
8024374903. 3

8024374904 4 O

Question Number : 37 Question Id : 80243“7 12 n Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

In echinoderms, sperm direction is %

1. Calcineurin
2. Bindin

3. Resact

4, EBR1

Options :
8024374905. 1
8024374906. 2
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8024374908. 4

Question Number : 37 Question Id : 8024371227 Question Type : MCQ Option Shuffling : No Is Questio@ ory : No

Correct Marks : 2 Wrong Marks : 0.5
. SHISAISH! H, B0 HFIGRIHA ¢ gRI WM fadl Siidl 8| C)
1. e K .

>, Rde 0\

4. EBR1
Options :
8024374905. 1
8024374906. 2 O
8024374907. 3 6
8024374908. 4
Question Number : 38 Question Id : 8024371228 Question Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
If an early cleavage stage wild type Drosophila e njected with bicoid
mRNA at the posterior pole then *

anterior pole

1. head structures develop at pcste@ﬁile the same is inhibited at

2. head structures form at bot 5 ¢

3. head structures are not f osterior pole due to presence of posterior

morphogens

4. duplication of usu r structures occurs

Options :

8024374909. 1

8024374910. 2
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8024374912. 4

Question Number : 38 Question Id : 8024371228 Question Type : MCQ Option Shuffling : No Is Questio ory : No
Correct Marks : 2 Wrong Marks : 0.5

¢ T FOUREY SiFe UINHE SHE 3Gl YU & URd ¥R H dRdis C)
mRNA I I SH] AY df @

1. U299 BR R 95 a1 @1 [Gey 87T, 9iafe 3 B3R I 98 AgUHd 8N | \@
2. G BRI IR A%dd TXa-1edi &1 fG&r gl
3. UXd TIPS &1 Julifd & SR URd B8R W T5d® a1 &l
EEIGI
4, G 9 Sl &1 ufafafueeo g el

Options :

80243749009. 1
8024374910. 2
8024374911. 3

8024374912. 4 O

Question Number : 39 Question Id : 80243712 n Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5 @

If the blastomeres of a 4-celled sea o are isolated, each blastomere

can form a pluteus larvae. This is an ex of:

I *
1. autonomous specification

2. conditional specification
3. determination
4. mosaic developmett

Options :
8024374913. 1
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8024374915. 3
8024374916. 4

Question Number : 39 Question Id : 8024371229 Question Type : MCQ Option Shuffling : No Is Questi @datory : No
Correct Marks : 2 Wrong Marks : 0.5

i th 4-HIRDIY GOl i & HRBYS] B JYahd [bal 9 d Udd .
HROYS U &[Ty drdl Bl HH10 ddl € | 98 Udh 3alei o

- A

>, Tufce= fafaga

3. fef \Q
4, Ao faobrg O
Options : *

8024374913. 1 Q

8024374914. 2
8024374915. 3

8024374916. 4 O

L 4
Question Number : 40 Question Id : \Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

L 4
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Which one of the following plant homeotic genes does NOT encode MADS-
domain transcription factor involved in floral organ specification?

1. AP2 O
2. AP1
3. AP3/P1

4. AG 2

Options : @K
8024374917. 1

8024374918. 2

8024374919. 3
8024374920. 4

Question Number : 40 Question Id : 8024371230 Question Type : M n Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Fifeed S W1 U ey giftEiied SiH quarl & MADS-3{J&
SRR BRP I Hed Tel Bl 67

\O
O

2. AP1 L 4

3. AP3/P1

4, AG Q
Options : ¢

8024374917. 1
8024374918. 2
8024374919. 3
8024374920. 4

Question Number : 41 Question Id : 8024371231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
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1. Kaurenoic acid O
2. Abietic acid

3. Proline P

4, Pyruvate

Options : \

Which of the following is a plant secondary metabolite?

8024374921. 1

8024374922.2

8024374923 3 Q

8024374924, 4 O

Question Number : 41 Question Id : 8024371231 Question Typ@tion Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

fifdd @ 91 U uey fadidd Surada a7

1. PISHIH O
4 TEE \6\0\

Options :
8024374921. 1
8024374922. 2

8024374923. 3
8024374924. 4

Question Number,: estion Id : 8024371232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 ng Marks : 0.5

For Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266



For Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266

Which one of the following metabolites formed during Calvin-Benson cycle in
chloroplast is involved in starch biosynthesis and can also be transported to

cytosol? O

1. Triose phosphate

2. Glyceraldehyde-3 phosphate &

3. Fructose-6-phosphate @

4. Ribulose 1,5-bisphosphate \

Options : O

8024374925. 1 Q

8024374926. 2 O

8024374927. 3

8024374928. 4 6
% MCQ O

Question Number : 42 Question Id : 8024371232 Question
Correct Marks : 2 Wrong Marks : 0.5

ption Shuffling : No Is Question Mandatory : No

fifeed o9 T Ue JugaS gRaadd | FerRFE Afada g
Wi Slagzayu # e gid & 9yl &l Wohd ©?

1. 2T BREpe

2. fieRfcEgge-2 BRbe

3, a2 Iol-6- BIRbe TS

4. g 1, 5-feeprhe

Options :

8024374925. 1
8024374926. 2
8024374927. 3
8024374928. 4
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Question Number : 43 Question Id : 8024371233 Question Type : MCQ Option Shuffling : No Is Question Mandatory. : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following essential plant mineral nutrients complexes with O
mannitel, mannan, polymannuronic acid, and other constituents of cell wall? < '

1. Silicon K P
2. Chlorine

3. Manganese \

4. Boron O

Options :

8024374929. 1 Q

8024374930. 2 O

8024374931. 3
8024374932. 4

Question Number : 43 Question Id : 8024371233 Question @ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
f-ifded ®H |1 U sfavgd UGy @il | BT, UTeiaRIAS o
quT HIfHT iRy & ST uedl & 9y ?

1. i

2. TR

3. HS .

4, §RH

Options :

8024374929. 1
8024374930. 2
8024374931. 3

8024374932. 4
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Question Number : 44 Question Id : 8024371234 Question Type : MCQ Option Shuffling : No Is Question Mandatory,: No

Correct Marks : 2 Wrong Marks : 0.5
Which one of the following plant proteins is targeted by HC-toxin produced by O

the maize fungal pathogen Cochliobolus carbonum? C)
1. H™-ATPase & 2

2. Histone deacetylase

3. ACC oxidase \

4. MTA nucleosidase O

Options :

8024374933. 1

8024374934. 2 O

8024374935.3
8024374936. 4

Question Number : 44 Question Id : 8024371234 Question @ \ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
fifed o9 W U6 UGy UidH Hadbl CAIE CIRE AT

(Cochliobolus carbonum) gRI 3d ad HC—‘ dférd Eﬂ?ﬂ %?

1. H™-ATPase Q

2. fee faudiergew

3. ACC TS ¢

4, MTA gidcaiiirss
Options :

8024374933. 1
8024374934. 2
8024374935. 3
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Question Number : 45 Question Id : 8024371235 Question Type : MCQ Option Shuffling : No Is Question Manda : No

Correct Marks : 2 Wrong Marks : 0.5 O

Which one of the following causes constriction of blood vessels? C)

1. Carbon monoxide K ¢
2. Nitric oxide

3. Endothelin - 1 \@

4. Atrial natriuretic peptide O

Options :
8024374937. 1 O

8024374938. 2
8024374939. 3
8024374940. 4

Question Number : 45 Question Id : 8024371235 Questlon Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

F=ifed o1 T ad arigorel § Ao d{H"-I&:

1. PIET AHIHTEES

2. A3ed AHauigs

3. TSIUfE - 1

4. Uftoits Afcgifed tweEs ‘

Options :
8024374937. 1
8024374938. 2
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8024374940. 4

Question Number : 46 Question Id : 8024371236 Question Type : MCQ Option Shuffling : No Is Questio ory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one is NOT the function of P-cells in the collecting ducts? C)

{ °
1. Na™ reabsorption :\®

2. K* secretion

3. H20 reabsorption
4, H" secretion
Options :
8024374941. 1

8024374942. 2
8024374943. 3

8024374944, 4 O

Question Number : 46 Question Id : 80243712 s on Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5 \

Wﬁqmﬁmﬂﬁﬁ&maﬁﬁﬁﬁﬁ%

1. Na* @1 G-13{a=Iyu] ¢
2. K* @1 9@
3. Hy0 @1 G
4, H* PITEE

Options :
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8024374942. 2
8024374943. 3
8024374944. 4

Question Number : 47 Question Id : 8024371237 Question Type : MCQ Option Shuffling : No Is Questio andatory : No
Correct Marks : 2 Wrong Marks : 0.5

amylopectins?

Which one of the following is NOT produced by a-amylase digestion of ingeste \é

1. Glucose

2. Maltose Q
3. Maltotriose

4, a -limit dextrins

Options :
8024374945. 1
8024374946. 2

8024374947. 3
8024374948. 4
Question Number : 47 Question Id : 8024&\ stion Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks
Tl U TR A e &1 ¢ -wzﬁ@ﬁﬁmﬁmﬁ?mwm:rﬂﬁ
g g? .

1. I

2. Hieeld

3. Aleeliedid
4. o -Tafie

Options :
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8024374946. 2
8024374947. 3
8024374948. 4

Question Number : 48 Question Id : 8024371238 Question Type : MCQ Option Shuffling : No Is Questio andatory : No

Correct Marks : 2 Wrong Marks : 0.5 &
L 4

What kind of inheritance is indicative in the pedigree chart shown below? \

e
e O

2. X-linked dominant
3. X-linked recessive

4, Autosomal dominant ‘\O
L 2

Options :

8024374949. 1
8024374950. 2
8024374951. 3
8024374952. 4
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Question Number : 4§6u%§1 {Blel ?(? a%ﬂgﬁ 1'5%1? (6611necs 10¥1'sf‘ty[%W\qVPt°6) les)fﬂﬁll%lﬁ?fﬁil?éc ﬁéﬁ%dﬁ%ﬁ@f%&gtory : No
Correct Marks : 2 Wrong Marks : 0.5

1 e=if U 4=y vaid 69 YR &1 93 giad &l 62 O

G
= &
v, O

60
e \00.)\\

8024374950. 2
8024374951. 3
8024374952. 4

Correct Marks : 2 Wrong Marks : 0.

* ( l>
Question Number : 49 Question Id : W estion Type : MCQ Option Shuffling : No Is Question Mandatory : No
¢
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Which one of the following is a correct statement about the difference between a
F* cell and Hfr cell?

1. In F7cell F factor is an integral part of bacterial chromosome, while in Hfr cell F O
factor is present as an episome. < :

2. F7 and Hfr are synonymous.

3. In F* cell a bacteriophage carries F factor, while in Hfr cell F factor is an & .
integral part of bacterial chromosome

4. In F* cell F factor is in the form of an episome while in Hfr cell, F factor is \
integrated into the bacterial chromosome. O

Options :

8024374953. 1

8024374954. 2

8024374955. 3

8024374956. 4

Question Number : 49 Question Id : 8024371239 Questlon Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

fFifeed 1 91 Ud F DIRIST a7 Hir IR b G H Hel b

2 *

?
1. F* DIR®T H F SRS Silaiged T YT © SalS Hfr PIRDTH F

FRE U AUHT & 0 H JUR |

3: F* SIS H Td P YR Bl &, SI&id Hir DIRBTH F
BHRE 1dvddH U EE A= YT |
4, F* PIHT H F RO 0w & %0 4 3gd] © Ja(d Hir BIRIDIH F BRS

Options :
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8024374954. 2
8024374955. 3
8024374956. 4

Question Number : 50 Question Id : 8024371240 Question Type : MCQ Option Shuffling : No Is Questio andatory : No

Correct Marks : 2 Wrong Marks : 0.5 K
L 4

Mutation is essential for genetic variation. Which cne of the following events can
lead to wariation amongst the gametes produced by males of Drosophila

melanogaster? O
[Crossing over does not occur in D. melanogaster males.] Q

1. Segregation
2. Imprinting

3. Recombination 6
4. Independent Assortment. Q

Options :

8024374957. 1 O
8024374958, 2 \
8024374959, 3 IS O
8024374960. 4 \

Question Number : 50 Question I 8024; !40 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Mar ¢
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SIGIG e [Ae1eY gR1 3dliGd G| H [afafidl 301 &R bl 57

R 31 Aoie iamm adi g g O
1. §UYHA

2. fa= O
ERICUITE] ®

4, G0 HYgeA

\

8024374957. 1
8024374958. 2
8024374959. 3
8024374960. 4
Question Number : 51 Question Id : 8024371241 Question Type : &tion Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Cytoplasmic male sterility (CMS) in plants is utation in the
mitochondrial genome. CMS can be restore clear gene, restorer of

fertility (Rf), which is a dominant character. If 3|:gterile pea plant is pollinated
by a fertile male pea plant with Rf it gsus condition, the progeny
obtained will have

1. all male sterile progeny

2. all fertile progeny ¢
3. 50% of the progeny ferti 0% male sterile
4. 75% of the progeny fi nd 25% male sterile

Options :
8024374961. 1
8024374962. 2
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8024374964. 4

Question Number : 51 Question Id : 8024371241 Question Type : MCQ Option Shuffling : No Is Questio@ ory : No

Correct Marks : 2 Wrong Marks : 0.5
Ueul d ®if@Eed] R 96l (CMS) TIH0@IT Yoi- § 3dRad- & SRU el & | C)
CMS &1 UAdd U B-Ed1g i, SEdl ge1d H- aral (Rf) I 81 Godl & off fh

TP JUE G40 g | T TP RIG TR S U BT RV UG R IFH AR H U9 g &
HR] AU o Re fAwogsll g § 8, df Ui g=afadl 3 8 | \@

1. Ul 1 ¥ gafa

2. gl 3@ gafd
3. 50% G-diddi JE9 dUl 50% T g4
4, 75% Tdiqdi &9 9T 25% R I9

Options :

8024374961. 1

8024374962. 2

8024374963. 3

8024374964. 4 \O
)

Question Number : 52 Question Id : 8024@12‘s on Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5 \

Which among the following states has ghest forest cover in terms of

percentage of geographical area? ¢

1. Chattisgarh

2. Uttarakhand

3. Madhya Pradesh
4. Odisha

Options :
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8024374966. 2
8024374967. 3
8024374968. 4

Question Number : 52 Question Id : 8024371242 Question Type : MCQ Option Shuffling : No Is Questio andatory : No

Correct Marks : 2 Wrong Marks : 0.5
L 4
WrTifee &3 & ufawd & ey & Fmifaa yowt & © frud waifie a1 g3 & K

- A

2. 3@ s

3. A9 Yodl

e O
Options :

8024374965. 1

8024374966. 2

8024374967. 3
8024374968. 4

Question Number : 53 Question Id : 80243712 \un Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5 ¢

Which of the following [::h},fl:r::r[::a:‘:thoe::h::minanﬂ}-r necrotrophic mode of

colonization?
L 2

1. Phytophthora infestans
2. Erwinia spp.

3. Erysiphe pisi

4. Puccinia grami
Options :

8024374969. 1
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8024374971. 3
8024374972. 4

Question Number : 53 Question Id : 8024371243 Question Type : MCQ Option Shuffling : No Is Questi @datory : No
Correct Marks : 2 Wrong Marks : 0.5

e fep TremRITSH® & HEradl HagHa 1 Saded! Tumch 8idl &7 K .
1. WEE?W?;?:;’WW \@

2. FaI79r T

3. SUEET e

2. T AT QO

Options :

8024374969. 1
8024374970. 2
8024374971. 3
8024374972. 4

Question Number : 54 Question Id : 8024371244 Qype : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

‘Q
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Which one of the following approaches is INCORRECT in classifying organisms
from kingdom Animalia?

1. Spicules were used as a primary criterion for the classification of phylum O
Porifera < :

2. Protostomes were classified into two major lineages; Lophotrochozoans and

Ecdysozoans & .
3. Hemichordates were placed in same superclass as Echinoderms because both

have ciliated larvae \
4. Ambulacrians included Echinoderms and Hemichordates O
Options :

8024374973. 1
8024374974. 2
8024374975. 3
8024374976. 4

Question Number : 54 Question Id : 8024371244 Qype MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Gﬂaﬂﬂﬁmﬁr@fﬁimﬁﬁﬂm ﬂ:ﬁ’ﬁim%?
1. u‘lﬂfﬁﬂﬂﬂmﬂﬁimﬂ'ﬂﬂm%ﬁq @ U YT HIYGUS & oid] Warl

SO T Bl
2. Uiewe vy RYria) &1 ammt-ﬁﬁi%mw% APl Y

PG ER T R
3. gHi®Iec @ 34! @ T § oI & SHseH &l ife aHl
H ol IH® aat |

4, TR ag qur gHi@ree M eid e
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8024374973. 1
8024374974. 2

8024374975. 3
8024374976. 4 O

Question Number : 55 Question Id : 8024371245 Question Type : MCQ Option Shuffling : No QuQMandatory : No
Correct Marks : 2 Wrong Marks : 0.5 *

In a population showing exponential growth, per capita growth rate will: \@

1. decrease as population size increases

2. increase as population size increases Q

3. remain constant as population size increases
4. increase initially and then saturate at large population sizes

Options :

8024374977. 1 O
8024374978. 2

8024374979. 3 O
8024374980. 4 \

Question Number : 55 Question I Qﬁ Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks:: 14
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S oHuE H udien gie ueikid Bl 361 8, uidofad afE e # g

1. TRTae oI S8 STER S |

2. 9f& oY ST PR deT | O
3. BRI o8 SHE=T HR dT | C)

4 RYH gig au R fa=e SHeed SeR UR giguid |
{ °

8024374977. 1

8024374978. 2

8024374979. 3

8024374980. 4 O

Question Number : 56 Question Id : 8024371246 Question Type : MC tion Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5 :
L 4

Options : :\
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Mycorrhizal fungi are associated with a large variety of plant species. The diagram
below shows the cost-benefit curves from individual plants with or without

mycorrhizal fungi associated with the roots across a soil nutrient concentration
gradient. O

Plant without mycorrhizal fungi

Plant with mycorrhizal fungi 6

Plant size

—
Soil nutrient concentration

Which one of the following opti@ns lxs describes the association between the

plant and mycorrhiza when sgi nt concentrations are high?

1. Parasitism

2. Mutualism

3. Competition

4. Commensalism
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8024374981. 1
8024374982. 2
8024374983. 3

8024374984. 4 O

Question Number : 56 Question Id : 8024371246 Question Type : MCQ Option Shuffling : No{Qu@Mandatory : No
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Options :

8024374981. 1
8024374982. 2
8024374983. 3
8024374984. 4
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Correct Marks : 2 Wrong Marks : 0.5

Which one of the following represents the largest outflux of nitrogen from the

atmospheric reservoir?

1. Biological nitrogen fixation

2. Nitrogen fixation due to lightning

3. Fixation on account of fossil fuel burning

4. Fixation by Haber's process for fertilizer production.

Options :

8024374985. 1
8024374986. 2
8024374987. 3
8024374988. 4

Question Number : 57 Question Id : 8024371247 Question Type,: MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374985. 1
8024374986. 2
8024374987. 3
8024374988. 4

Question Number : 58 Question Id : 8024371248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Identify the plot that depicts the change in metabolic rate of an endotherm with

respect to change in environmental temperature O
o 10 20 30 40 OQ

(=1

Metabolic rate

Environmental temperature *C
; Ab
0 10 20 30 40 \O
Environmental temperature ®C Q

¢

P
Metabolic rate

(]
Metabolic rate

0 10 2h 5"0 4lu
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Envirenmental temperature °C
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Metabolic rate

0 10 20 30 40 \
Environmental temperature °C
Options : O
8024374989. 1 Q
8024374990. 2
8024374991. 3
8024374992. 4 6

Question Number : 58 Question Id : 8024371248 Question : Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :
8024374989. 1

8024374990. 2
8024374991. 3
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Question Number : 59 Question Id : 8024371249 Question Type : MCQ Option Shuffling : No Is Question Manda : No

Correct Marks : 2 Wrong Marks : 0.5 O
The following statements describe the outcomes of genetic drift: C)
A. Genetic drift can eliminate alleles. & ¢
B. Genetic drift can be associated with population bottleneck.
C. Genetic drift is not observed in populations that increase in size, once they
grow through a bottleneck.
D. Genetic drift can be associated with founder effect.

Which one of the following combinations represents all correct statemew
1.A,Band C 6

2B CandD

3ABandD

4 A CandD

. O

8024374993. 1 *
8024374994. 2

8024374995. 3 \
8024374996. 4

Question Number : 59 Ques
Correct Marks : 2 Wron

24371249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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1.A BTOYIC '\Nt::\‘

2. B,CAYUID

3.ABAUID
4 A CdYID

Options :
8024374993, 1
8024374994 2
8024374995, 3 \

IS

8024374996. 4
Question Number : 60 Question Id : 8§02 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Examples of antibiotic resistance highlight important features of natural selection.
Which of the following statements is NOT true?

1. Evolution by natural selection is progressive, it makes individuals ‘better’. O
2. Natural selection acts on individuals but it is populations that  change with
time. C)

3. Natural selection does not cause genetic changes in individuals

4. Natural selection acts on phenotype @&
Options : \
8024374997. 1 O
8024374998. 2

8024374999. 3 Q

8024375000. 4 O

Question Number : 60 Question Id : 8024371250 Question Type : &tion Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

glcsiidl & Ui WiaRi® aFdrsd B Iaeul Hibiis, faRruaraf &1
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Options :

8024374997. 1
8024374998. 2
8024374999. 3
8024375000. 4
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Question Number : 61 Question Id : 8024371251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following genomes is most appropriate to determine hybrids in O

plants and animals? < '
1. Nuclear P

2. Mitochondrial

3. Chloroplast \

4, Mitochondria and chloroplast. O

Options :

8024375001. 1 O

8024375002. 2

8024375003. 3
8024375004. 4

Question Number : 61 Question Id : 8024371251 Question @ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
F=ified ®F 91 U "o Ureul qul sigeii & 3 H e SUgdd 7
L 4

1. BHO \

2. YFBUDIT

3. BRd dd®

4. GARIOBT dYT gRd dd ¢

Options :

8024375001. 1
8024375002. 2
8024375003. 3
8024375004. 4
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Correct Marks : 2 Wrong Marks : 0.5

Soon after the cuckoo egg hatches, the chick shoves the nest owners’ eggs out of

the nest. This is an example of: C)

1. habituation

2. imprinting K
3. innate behaviour \

4. operant conditioning

The common cuckoo, a parasitic bird, lays eggs in the nests of other bird species. O

Options :

8024375005. 1
8024375006. 2
8024375007. 3
8024375008. 4

Question Number : 62 Question Id : 8024371252 Q Qype MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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8024375005. 1
8024375006. 2

8024375007. 3
8024375008. 4 O

Question Number : 63 Question Id : 8024371253 Question Type : MCQ Option Shuffling : No QuQMandatory : No
Correct Marks : 2 Wrong Marks : 0.5 *

Which one of the following approaches/markers would be typically used for \@

discovering polymorphism between two closely related accessicons of a crop
plant? O
1. AFLP Q
2. GBS O

3. 55R 6

4. RAPD *

Options : Q

8024375009. 1

8024375010. 2 \O

8024375011. 3

8024375012. 4 ¢ \O

Question Number : 63 Question Id : 1@53 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks :90.5
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fFifted @F I ufafiEl/fosd @ Buct 91U & &l 9-teal ¥ 99s 9eaddl &
a1 dg&Udl & WIS o ol FIUROTAT W1 H S/l |6

1. AFLP O
2. GBS

3. SSR O

4. RAPD & .

Options :

8024375009. 1 \
8024375010. 2 O
8024375011. 3

8024375012. 4 Q

Question Number : 64 Question Id : 8024371254 Question Type : M QShufﬂing : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Given below are a few approaches/techniques used in th@f plants:

B. PCR using primers specific to the host genof\o

A. Phenotype linked to the marker gene.

C. Southern hybridization *
D. PCR using transgene-specific primer
t @ approaches/ techniques can be used
to differentiate between transgepic an® non-transgenic plants of a particular

Which one of the following combina

variety if the site of insertion is wh?

1. B and C only
2. A and D only
3.ACandD
4 ABand C

Options :
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8024375013. 1

8024375014. 2
8024375015. 3
8024375016. 4

Question Number : 64 Question Id : 8024371254 Question Type : MCQ Option Shuffling : No Is Qu@wandatory : No
Correct Marks : 2 Wrong Marks : 0.5 K

W%ﬁﬁﬂmﬁmﬂmaﬁaﬁgﬁqﬁﬁﬁrmﬁﬁﬁ:ﬁ%mw%\

A Fe® 9 9 319G a&UUEy
B. TiftraT Toii- fafire Jus™a! ¥ PCR O

C. UG erefgsrsarad Q
D. URSIH faf3ree Iushaa! I PCR (; '

wifaferdl/ad-fie! &1 FHifed $1H 91 (e Hd U6 (9209 UhR & Gl
&{Hﬂﬁﬂ:ﬁ?ﬁaﬁﬁﬂﬁﬂﬂﬁﬁiﬁqmﬁfmﬂm%@ﬁw

*

T al?

1. AT B TUTC

2, Had A TUTD O
3.A COYID \

4 A BOYIC

O
Options : \
8024375013. 1 Q
8024375014. 2 .
8024375015. 3

8024375016. 4

uestion Id : 8024371255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Marks : 0.5

Question Number : 6
Correct Marks :
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O

In the context of plant breeding and genetic engineering, which one of the
following statements is correct?

1. To achieve high expression level of a heterologous gene in a transgenic plant a C)
promoter of bacterial origin is often used. & N
2. F1 progeny derived by crosses between inbred lines with low genetic diversity
is more likely to show heterosis. 0
3. In Agrobacterium mediated plant transformation, always a single copy of t \
transgene is inserted in the host genome.
4. Qualitative traits are typically characterized by discontinuous phenﬂt}fw
variation while quantitative traits often generate continuous phenoffpic
variation. 6@
Options :
8024375017. 1 ®
8024375018. 2
8024375019. 3 O
8024375020. 4
*
Question Number : 65 Question Id : 802 estion Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.
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Siaifta® SGYd 3~ad & 3UGRT gidl 8| O
2. ey AR fAfdadgad ofd: usd Haf & TR0 ° 30 F1 gafadl |
TR o @1 3= GHIET gidl o O
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Options :
8024375017. 1 O

4.Wﬁ%wmﬁﬁawﬁmaﬁﬁﬁﬁﬁﬁaﬁ%mﬁ\

8024375018. 2
8024375019. 3
8024375020. 4

Question Number : 66 Question Id : 8024371256 Question % \ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The total number of cells in 1 ml of a bacteri x was estimated to be 2.7 =
10°. The culture was diluted 27-fold and‘lﬂ ded per well of a 96-well plate.

What is the final cell number per w%
1.1x 10°

2 27 = 10% ¢
3.27 x 107
4.1x 10%

Options :
8024375021. 1
8024375022. 2
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8024375024. 4

Question Number : 66 Question Id : 8024371256 Question Type : MCQ Option Shuffling : No Is Questio ory : No
Correct Marks : 2 Wrong Marks : 0.5

1 ool S St & SRR ) 3 T 27 10 Bl R | T C)
&I 27-TH1 TP [T 71 TUT TP 96-F U wie H 100y, Ui PUS 3@ 7411 Ufd K L 4
DD HIADIH B UM FBaT I ehil?

1.1x 10° \

2.27 x 10%

3.27 x 10° Q

4.1x 10*

Options :

8024375021. 1
8024375022. 2
8024375023. 3

8024375024. 4 O

Question Number : 67 Question Id : 80243712 n Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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In a cloning experiment, a DNA molecule isolated as a Pst | fragment was inserted
into the Pst | site of a cloning vector that is 3kb in length. Digestion of the
CONFIRMED clones with Pst | resulted in the appearance of a single band
corresponding to 3kb in an agarose gel. Based on this information, what is the O

probable size of the cloned fragment? C)
1.6 kb & R
2.1.5kb

3.3 kb \

4.45 kb O

Options :

8024375025. 1

8024375026. 2

8024375027. 3 O
8024375028. 4 ﬂ
Question Number : 67 Question Id : 8024371257 Question Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
U a4 UGN H, U DNA 3{U] &1 JUdHH0l FINRY ST a5 T YT 39T
GiYdEH U 3kb T Tl Gaed & Pst | 1| YHIford el & Pst |
U U U d-5 & U g5 ol [P kb & HFEY & | IWIad I
@ YR R, Tl [T T 379 BT 9 &1 T2

'S

1.6 kb
2.1.5kb
3.3kb
4.45kb

Options :
8024375025. 1
8024375026. 2
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8024375028. 4

Question Number : 68 Question Id : 8024371258 Question Type : MCQ Option Shuffling : No Is Questio@ ory : No

Correct Marks : 2 Wrong Marks : 0.5
Which one of the following statements is TRUE? C)
1. Nick translation cannot be used for radio-labeling DNA fragments for use in K ¢

3. In a 2-D gel electrophoresis for separating proteins, analytes are first separat
on the basis of their size and then on the basis of their pl.
4. AFLP markers are typically used to screen heterozygotes from homo 5
Options : G
8024375029. 1 6
8024375030. 2
8024375031. 3
8024375032. 4
Question Number : 68 Question Id : 8024371258 \f Egype : MCQ Option Shuffling : No Is Question Mandatory : No

Southern hybridization
2. RACE can be used to obtain sequence information of the ends of a cDNA \

Correct Marks : 2 Wrong Marks : 0.5 *

=ifed ®F 91 U &Y ol 87

1. WIToI SdIE B JUGN Fad H SfUar & fel DNA iFlf &
&g sifdhad & e 21 Ay |

2. RACE @I 3UGHT cDNA & @I Y1 U &3 o {o1U fdogn & gaball
gl

3. T & QyamRol oid dggadUrEdeH H favasd! &I Ugd SdR &
HIYR IR 2 T fihe 3 pl & SATUR IR |

4. AFLP gl GO 9GSl © favngeial o erqdiam o faar
il |
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8024375029. 1
8024375030. 2

8024375031. 3
8024375032. 4 O

Question Number : 69 Question Id : 8024371259 Question Type : MCQ Option Shuffling : No Qu@Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5 ¢

Which one of the following proteins produces a dark blue/purple color in the @
presence of 5-bromo-4-chloro-3-indolyl phosphate and nitroblue tetrazolium? \
1. Polynucleotide kinase

2. Alkaline phosphatase Q

3. B-glucuronidase O

4. B-galactosidase q :

Options : *

8024375033. 1

8024375034. 2

8024375035. 3 Q

8024375036. 4 \O

¢
Question Number : 69 Question Id : 80243 stion Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : O.Q

¢

For Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266



For Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266
Feifded o W1 ts WA 5-aHl-4-FRI -3-3-sifeid au Agels] cerNilfud &l
Jufeufa 7 et Hie/sg- 31 3 dRar g7

1, TR TR O

2. Teh Al BB (‘::"
3. BT SH
4. p-TTddIfeS

Options : \a
8024375033. 1

8024375034 2

8024375035. 3 Q
8024375036. 4 O

Question Number : 70 Question Id : 8024371260 Question Type : @tion Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following sets of terms is matched cory

1. Fluorescence microscopy: Use of dyes that a ivfight of the same

wavelength
2. Confocal microscopy: Use of pinpointﬂlun and detection apertures
3. Confocal microscopy: Use of pinpoingy #Ftion and detection apertures
4. Gas Chromatography: Used for an non-volatilized carbohydrate
molecules

Options :

8024375037. 1
8024375038. 2
8024375039. 3
8024375040. 4
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Question Number : 7d: augg fon ?&) a%&gﬁ gg(f %ellne% ion s]fiyp W\’M)toéf Qyp%%laglﬁ?fﬁior C%taft Gueszg)%1ﬁgg(§atory No

Correct Marks : 2 Wrong Marks : 0.5
Yegaadl o Hifdhd HH O 94 Glad § af=d 57

1. Bfaei T G&aext: I9@! &1 uaiT Sl {6 GHF TUIe e & U &I a0 ayl
I Hd B

2. DHBIB (FITH) YEHCR: Y& TSI YT T RS D1 SWR

3. FISH (fth1): fetesie doliHl # Widgiii o HUSl &1 DNA-DNA 3=A1G1HAT &
T & O &R @] & S fdfase 8l o & fore Jugi

4. 719 uicifEadt: o-ara2iic dlalergee AU & Gy & e Iugn

Options :

8024375037. 1
8024375038. 2
8024375039. 3
8024375040. 4

Part C"Life Sciences

Section Id : 80243730
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 25
Section Marks : 100
Mark As Answered Required?\: Yes
Sub-Section Number : 1
Sub-Section Id : 80243744
Question Shuffling,Allowed : Yes
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Question Number : 7f6u%§1&31€1 ?(? a%ﬁgﬁ IIE%IS .eune% 10¥1'sf‘ty[%W\qVPt°& qyls)%ﬂ)?‘ll%lﬁ?fﬁil?é (::%})afst:(&%dlo%lwggggtory : No
Correct Marks : 4 Wrong Marks : 1

The following statements were made to suggest the existence of an enzyme —

substrate complex. O

A. At constant concentration of enzyme, the reaction rate increase with increasing C)
substrate concentration P
B. An enzyme-catalyzed reaction has a maximal velocity

C. At constant concentration of the enzyme and substrate, an increase in the
reaction rate is observed.

D. An enzyme catalyzed reaction is not influenced by high%@
su ate

concentration.

Which of the above statements suggest the existence of an enzyrneo
complex?

1. Aand B

2.BandC *
3. AandD
4. D only \O

Options :

8024375041. 1 * O
8024375042. 2 \
8024375043. 3 Q
8024375044, 4

IS

Question Number : 71 Ques : 8024371261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong s:1
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A. TT3H & 9d Irsdl R, Prisd & 9rsal & gfe & 91y g X aeal & |

B. U U-wiIzH SR aifufar ot aifigq nia gidi 2 1 O
C. TIgH aY1 BRigd & F1ad Figdl IR, 3Hihar o # U giee ¢@t ol § | O

D. Ush T=aligd 3Rd sififeal drdsd & 3=d Irsal Y WHifdd gl sldl © | &

SRIGd D Il HYF/DHYH (HSH-BUsd Bl 3od Gigdl 9 THIEd Hdl o7 \0

1. ATYUTB O

2.BTYUIC Q

3. ATYID

4. HAAD

Options :

8024375041. 1
8024375042. 2
8024375043. 3
8024375044. 4
Question Number : 72 Question Id : 8024 @stlon Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Q
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An enzyme catalyzed reaction comparing proton and deuteron transfer reactions
yielded the following kinetic data

keat [H], 577 70.7 O
K [H], mM 1.03 O

k.st [D1 s 10.3

Kt [D], mM 1.06 \0

Which of the following represents the turn over numbers (M7 s77) for prmo
transfer, deuteron transfer and the kinetic isotope effect, respectively?

1. 68640, 9717, 14
2. 6864, 972, 7
3. 728210, 1091, 14

60

Options :
8024375045. 1

8024375046 2
8024375047. 3 . O
8024375048, 4 \

Question Number : 72 Question I 8024; !62 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Mar ¢
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U U=argH IRa ffshar st fr Uieq qur Sgei- ®IHRR Sffbarsd| @i o

keat [H1, 57 70.7 O
K [H], mM 1.03 C)

k.st [D1 577 10.3

Kt [D], mM 1.06 \0

Fifded o1 O fdded S8R : UieH | RIHRUT & folU o 3iiar T (-1 5
S RIFTIR 9y T GRS THTE Il 87

1. 68640, 9717, 14
2. 6864, 972, 7
3.728210,1091, 14

(30

Options :
8024375045. 1
8024375046. 2

8024375047. 3 . O
8024375048, 4 \

Question Number : 73 Question I 8024; !63 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Mar ¢
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The first step in the blcsynthems of valine begins with enzyme catalyzed

condensation of two molecules of pyruvic acid. If an equimolar mixture of
13CH;COCO0H and "2CH3COCOOH are used as substrates for the reaction, which

one of the following would represent the correct isotope incorporation pattern of
the pro-R and pro-S diasterectopic methyl group in valine? O
50% "*CH; (pro-R), 2CHa (pro-5S)
50% "CH; (pro-R), *CH; (pro-S)

75% '*CH;s (pro-R), '2CHz (pro-5S) \@

25% 2CH; (pro-R), "*CHs (pro-S)

25% "3CHs (pro-R), 2CH: (pro-S) Q
25% 2CH; (pro-R), “CHa (pro-5)

25% "“CHas (pro-R), *CHz (pro-S)
25% 2CH; (pro-R), “CH: (pro-5S)

" 75% "2CHs (pro-R), "*CH; (pro-5)
" 25% “CHs (oro-R), "*CH;: (pro-5)

Options : O

8024375049. 1 \

8024375050. 2 Q

8024375051.3

8024375052. 4

Question Number : 73 Id : 8024371263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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dfeH & SIaURTU H GYH 910 Gl UISEiad o o O[3l & TagH Said a1
T P BT 81 TG 13CH;COCOOH TUT 12CH;COCO0H &1 TH THARR dfY @l
SR Sfufea & e ve orisg S fiar oe, @ Feifea @F 1 ue afem o
pro-R YT pro-s ufdfddl Bfad Augd 99g & udie gaiAE 9434 & W&y O
I GLidl &7 O

50% 13CHz (pro-R), 2GHs (pro-S)

b 50% '2CHa (pro-R), 1*CHs (pro-5) \@&

75% 13CHs (pro-R), 2GHs (pro-S)

2' 25% 12CHa (pro-R), *CHz (pro-5) QO

25% 12CHs (pro-R), 2CHs (pro-S)
25% 12CHs (pro-R), *CHs (pro-S)

> 5% 13CHs (pro-R), 1*CHs (pro-S) 6
25% 12CHs (pro-R), 2GHs (pro-S) Q
75% 12CHz (pro-R), 13CHa (pro-S) O\

4, *
25% 13CHz (pro-R), 13CHz (pro-S)

\S

Options : *

8024375049. 1
8024375050. 2
8024375051. 3
8024375052. 4

Question Number : 74 Question Id : 8024371264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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The following disulfide bond containing peptide was digested using trypsin. How
many peptide fragments will be produced by the digestion?

MTPOQKAVILNSCTYRPYPM O

NOGCLKVCVYNPCGRLTDEH

o & N
1. Three @
2. Four
3. Five O
4, Six Q
Options :
8024375053. 1
8024375054, 2 6
8024375055. 3

8024375056. 4

Question Number : 74 Question Id : 8024371264 ep *MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
0\( >
L 4
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¥ o Ws Idied siil?

MTPOKAVILNSCTYRPYPM O

NQGCLKVCVNPCGRLTDEH
J

T \‘&

4, @

Options : Q
8024375053. 1

8024375054. 2
8024375055. 3
8024375056. 4

Question Number : 75 Question Id : 8024371265 QuesO Q Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A 100 residue long protein has a single chromophoric residue (tyrosine). The UV
absorption of this protein and a homologous protein (also with a single tyrosine

residue) was monitored at 280 nm at different pH conditions. A plot of the
absorbance as a function of pH is shown below. The locations of the tyrosine O
residue in the context of the protein sequences is also shown in the figure. C)
o A o B & ¢
S|1 25 so 75 100 S|1 25 so 75 100 @
L1 1 1 = A | T F
E TV g Tyr \
: /| | J

6 7 8 9 10 11 12 6 7 8 9 10 11 12

pH pH

Which one of the following rationalises the difference in the tw %ticns?

1. removal of the hydroxyl group of tyrosine above pH 1
2. location of the tyrosine residue in the protein strugtagg
3. pH dependent changes in the absorption in ti

4. hydrolysis of the polypeptide as a function

main chain

L 4
Options :
8024375057. 1 \
8024375058. 2
8024375059. 3 ¢

8024375060. 4

Question Number : 7
Correct Marks : 4

10m Id : 8024371265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
g Marks : 1
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U® 100 H9Y9d &Y UicH H Ush Uahd quiad add (SIgRiH) g1 39 Ui &1 aul
el W (formd +ff e thd oI 3dgd 8) @ UV Sfa-imol fafi= pH
gRfRufeal ® 280 nm TR Sf@aliithd a1 4T | HIeH & Hg@H & TaH H eiRA
Haga o1 ¥ o FEifea smeal § a2 g | O

e s ©

1 25 75 100
Ll L1

3
<
" 2

| O
6 7 8 9 10 11 12 6 7 8 9 10 11 12
pH pH

f=ifed 19 T U fadbed ol pHuﬁaﬁﬁﬁf‘Wﬁﬂgﬁm

1. pH 11 & SR R & oI GYg &I Harl
2. Ui & WEU H e 3add &1 ®IH
3. UCiU@Tg e 430 yaal § pH R sra=iyo o
4. pH @ Us YD & oI UIULISS &I ofc-

Absorbance (A.U.)

Options : ¢ O
8024375057. 1 \
8024375058. 2 Q

8024375059. 3

8024375060. 4 ¢

Question Number : 76 Qu Id : 8024371266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 W rks:1
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The 15 base-paired nucleic acid molecule shown below is dissolved in an aqueous
buffer of pH 7.3.

Which one of the following statements is INCORRECT?

1. It can be a double-stranded DMNA molecule in a B-form helix &
2. It can be a double-stranded DNA molecule in an A-form helix \

3. It can be a double-stranded EMNA molecule in an A-form helix

4. It can be double-stranded EMA molecule in a B-form helix O
Options : O

8024375061. 1

8024375062. 2 6
8024375063. 3

8024375064. 4

Question Number : 76 Question Id : 8024371266 uep #MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
0\( >
L 4
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4 c=Ild T 15 &R-gH fddd 3 DUl Bl U pH 7.3 & oaiig 34Y faRieh d
PINIEIE

5'-AGUUCGGAURATUC

G U G-3 O
3’-UCAUGCCUAUAGC A C-5’ O

ifed I 9 Ud HYT Tad § ?

1. T8 U B-AFET HUse # fg-Too[@ DNA 0] 81 Tdd B 0&
2. U8 U A- 3MHEU pusel H fg-Issld DNA 31U 1 9dd o \
3. U8 U A- 3T pusel | fg-I5eld RNA 3] 51 Udhd o |

4. g U B-3HAEU HUadl H f3-3o9d RNA 31U 81 Ghd & | QO
O

Options :
8024375061. 1

8024375062. 2 6
8024375063. 3

8024375064. 4

Question Number : 77 Question Id : 8024371267 uep #MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
0\( >
L 4
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Following statements were made about sex determination in Drosophila

melanogaster:

A. It is achieved by a balance of female determinants on the X- chromosome and O
male determinants on the autosomes.
B. A Drosophila with 0.66 value of X:A ratio would develop intersex type.

C. Due to noninvolvement of ¥ chromosome in sex determination process, XO
Drosophila develop as normal fertile male

D. The high value of X:A ratio facilitates activation of feminizing switch gene Sex —\0

lethal (sxi).
E. Sex specific expression of sxl causes selective activation o

compensation genes in female Drosophila.
Select the option with combination of all correct statements.

1.A B E
2 A B D
3.B,C,E

A.B,C D
Options : O
8024375065. 1

8024375066. 2 O
8024375067. 3 \
8024375068. 4 Q

Question Number : 77 Questi 2437 1267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong
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SIglGer [Acleeyd fan FuRo & g J e oy 991 1
A. T8 X-TURA R Hiel MyRe! qun HiREl R R FuRe! & Uh ddem 9 Iuifeid

GRS O

B. X:A 3-JUTd & 0.66 Hcd dIdl Ush S/gl/ e Ues Aeafeill ey H fadbfd ghm| O
c. fe R ufsbar & v 70 & SR HIFIT & BRUI, X0 STEearH & ¢
SIFFIEH TR ST [ BT

D. X:A 3IUTd B1 I=d Hcd AIGIDHRS g S [CT-Hrdl (Sex-lethal) (sxf) & WO\

©I GH Dl Bl
E. sx1 1 v fafaree sif¥reafad Arar gigiper 3 Amn HeiRo ufdeo Q
RUTHD febyv] & HRP S-1dl o

Tyt Te! dy=l & 99 ard [dded &1 997 B A%
1.A B, E Q

2A B D
3.B,CE \O
4.B,C,D O
*
Options : \
8024375065. 1
8024375066. 2
8024375067. 3 L 4
8024375068. 4

Question Number : 7
Correct Marks : 4

ion Id : 8024371268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
arks: 1
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Following statements are made about KDEL receptor.

A. KDEL receptor is found in COPI vesicles

B. KDEL receptor affinity for KDEL sequence is high at higher pH C)O

C. KDEL receptor is synthesized on the ER &
*
D. KDEL receptor is present in the ER and Golgi 0
Identify the option that contains all correct statements about the KDEL receptoro\
1. A and B only
2.A B C
3.ACD O
4. Cand D only 6
Options :
8024375069. 1
8024375070. 2
8024375071.3 O
8024375072. 4
*
Question Number : 78 Question Id : 802 estion Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
*

For Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266



GHEL ‘;ﬂﬁ = E_c['l-f = 1%10__[[%;_1%%? Co c]hlla? of life science : visit: www.biologyscholar.com, or contact: +91-7021673266
A. KDEL U181 COPI GfedmTsii & R Sl & |

B. KDEL WTgl 1 KDEL 3FIehH & Ufd =[dl 3=k pH R D sl & | O
C. KDEL T8 ER TR U=AITUA Bl © | C)

D. KDEL TIT& ER TYT el H U &I & |

KDEL UTel & G | 94t ol Byl aid fadcd &1 UgaH &9 | \0

1. Bdd A TUTB

2 A B, C :
3.ACD
4. Hdd C YT D

Options :
8024375069. 1
8024375070. 2

8024375071.3
8024375072. 4
Question Number : 79 Question Id : 8024 \.stlon Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Q
The following figure represents the gro curve of wild type E. coli grown in a

medium containing both gluc $ctose.

Bacterial
density
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O

2 4 6 B
Time in h

In E. coli, the catabolite repression of lactose operon by glucose has been

explained by the different levels of cAMP in presence and absence of glucose. & N
This model was challenged and experiments showed that catabolite repression

occurred because the activity of lactose permease was inhibited in the presence o 0
glucose. Considering the second model, which one of the following plots corre \
represents the growth pattern of a mutant E. coli with a loss of function mutati

in the lac/ gene growing in a medium containing glucose and lactose? Q

1.

Bacterial|
density

[l 1 1 1

L 1] ] 1

2 4 6 8

Timein h O
‘ O
Bacterial| \
5 density Q
1 1

2 4 6 8 *
Timeinh
3.
Bacterial|
density
3.

1 1 1 1
| L] ] ]
2 4 B

8
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Timeinh
4.

Bacteriall
density
! CO
1 I 1 1
| ] ] ]
2 4 6 8

Timeinh ¢

Options : @ﬁ
8024375073. 1 \

8024375074. 2

Question Number : 79 Question Id : 8024371269 Question Type : M Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fifea M e qul dae ™ &iHl J gad U datq E coli &
GG AR

O
o4

8024375075. 3
8024375076. 4

Time in h
E. coli § @I gRI @1 HYIGH SHA DI Iqdie @I Juiufd a1
Hpuffd d caMP &, IR ufquifad foar 7 | 39 uidued @rsa) W
3fTaf &= fa U gg <@l 1 foh UagH GHA Tdiel &1 Juiyfa
daeie Ty & GO4 & ®RU g3 | fadig Arsd o gy,
fifed &9 @ B quT daeld Af¥d te dat= arey o (el ofF &
BHIUEHT AU Jdidad dad Ul Jdiddl £, coli & i Wa©0 & ol o7 ¥ Ueiald
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Bacterial]
5 density

Timein h

Bacterial|
X density

2 4
T h

Options :
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8024375074. 2
8024375075. 3
8024375076. 4

Question Number : 80 Question Id : 8024371270 Question Type : MCQ Option Shuffling : No Is Questio andatory : No
Correct Marks : 4 Wrong Marks : 1

*
Following statements were made about human mitochondrial genome: \0&

A. The replication of both the H and L strands is unidirectional and begins
specific origins. O

B. Majority of the mitochondrial genes encode for protein  products. Q

C. Though the mitoechondrial genome is extremely compact the genesgieverShow
any sequence overlap.

D. The CR/D-loop region of mitochondrial genome exhibi % stranded

structure.

E. Transcription of mtDNA starts bi-directionally from a omoter region
in the CR/D-loop region and continues round th

Which one of the following options contains a all correct

statements?

1.A B D Q

2 A DE
3.B,D,E
4B,C D

Options :

8024375077. 1
8024375078. 2
8024375079. 3
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Question Number : 80 Question Id : 8024371270 Question Type : MCQ Option Shuffling : No Is Question Manda : No

Correct Marks : 4 Wrong Marks : 1 O
T GO I & T 7 o e T C)

A. H TYT L GHI Touqd! @l Hiddhdid Uhedd gidl § a4l T a2y IgH | W & .

HR BIAIE | @

B. HIYH R GABUIBIY S WIeH SdIG! B ded Dl ¢ | \

C. T GFH UG ol Hdd 99 aldl &, - Bl T IRERerdl O

D. YHASBUGIY ol @ CR/D-3 &3 Biieu® W1 e2idi B | O

E. mtDNA @ 3fcia- @1 3R™ CR/D-3% UaH H Ud IYIFS g

fafeanatd alid U HR™ Bidl & a4 9o & dda Bl AR

Fifded ®F 1 U fadbey 94 Tel &Yl & Ha 9

1.A,B, D O

2.A DE

3.8,D,E ¢ <:::,

48,CD ‘QNN;

Options :

8024375077. 1 ©

8024375078. 2

8024375079. 3

8024375080. 4

Question Numbe estion Id : 8024371271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Following statements were made about the characteristics of cyclin proteins:

A, Synthesis of M-cyclin is dependent on the cyclin mRNA that is newly

transcribed after every cycle. O
B. Destruction of M-cyclin toward the end of mitosis is driven by ubiquitin

independent proteolytic system. C)
C. 31 cyclins can be activated by mitogenic factors.

D. Retinoblastoma (Rb) is a key target of the activated cyclin D — Cdk 4/6 complex@

*

E. While cyclin A1 expression is ubiquitous, cyclin A2 expression is restricted to

the germ cell lineages.
Which one of the following options contains a combination of

statements?

1.A, B, D O
2.B,C E 6
3.B,D,E

4.A C D Q

Options :

8024375081. 1 \O

8024375082. 2

8024375083 3 ‘\O

8024375084. 4

Question Number : 81 Question I 802‘3 1271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Mark:
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qrzfaa- Uil & sifvyaenn & g § e Sy 59 1
A. M- TTSiaa &1 9090 95faad mRNA B IR AR g e ude a8 &

TR T RR A SATad S R | O
B. YHGAU & THIUA & IHIU M-Irsfdad & foam glaggfed sHia uidH
3Uge® ad § Aeid Bial § | O

C. G1 Wil &1 Afshgur G-l SRS U 5l Gbdl 6| &
D. YISIREIAT (Rb) Gfhd TISfAaT D - Cdk 4/6 Ty ﬁrwuﬂﬂaﬁﬂﬁﬂ%@

E. Sal Oisfaa A1 @1 ificafad Gacaud s, Ggfaad A2 @ Sifiafad

DIf2TT dRaT di of Sidd tgdl § |
Prsife B 1 U R Tl ad ol 5 A 3 At 2 2 \Q
1A, B D
2B CE
3.B,D,E
4. 4 C D

Options :

8024375081. 1

8024375082. 2

8024375083. 3 \O

8024375084. 4

Question Number : 82 Question I 802‘3 ;1272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Mark:
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Following statements were made about catalytic introns:

A. Group | introns may undergo self-splicing by transesterification.

B. Group Il introns do not require any factor/protein for autosplicing either in vivo O
or in vitro < :

C. Certain introns of both the group | and Il classes may contain open reading

frames which are translated into protein. & .
D. Generally, group | introns migrate by DNA-mediated mechanisms, whereas

group Il introns migrate by RNA- mediated mechanisms. \
E. Ribonuclease P (RNase P) is essential for bacteria and archaea but not

eukaryotes. O
Which one of the following combinations represents statements wh@l
correct? C
1.A B D 6
2BDE
3.3ACD
4.C D E
Options : \O
8024375085. 1
8024375086. 2 ¢ O
8024375087. 3 \
8024375088. 4 Q

¢

Question Number : 82 Questi 24371272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong
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51 Py SER® 3THl & W H 991 TR

A. Taue TRy gRI & | & 3<Hl &1 [WEHEHHA 5l 9bdl o

B. SiId 34dl U &l 1| <M Bl T[WaHEH o [oU fdd] dRSB/UICH Bi Sa=addl O
el Bidl &

C.ﬁl%llﬁ%ﬁ%ﬁﬁﬁﬁmwmpen reading frames) Bl C)
T & Rt e W H e d g gl & R

D. W], @ | <H1 &1 RIFFRU DNA-TSR] Uil GR1 8idl 6, Said av i
T &1 ”IFRRY RNA-AER U] RIS S | \

E. ST P (RNase P}Gﬂarqaﬁﬁm&msﬂmq&ﬁaiﬁqw%mg
gabiare! o fag =181 |

Frified ® 9 o U Ha wH we el 3 AT 2 \Q

1.A.B,D O

2.8,D,E 6

3.A,C,D

4.C,D,E

Options :

8024375085. 1 \

8024375086. 2 . O

8024375087. 3

8024375088. 4 \

Question Number : 83 Question I 802‘3 ;1273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Mark:
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A protein found in the golgi compartment was found to be degraded rapidly at
mitosis. Golgi extracts (isolated from G; and M phase cells treated with

deubiqutination inhibitors) were treated with glycosidase and western blots done
using antibodies against the protein. The following pattern was obtained. O
Marker G, M O
*
-gly + gly - Ely +gly
e @
B = % \

30 | —

Identify the statement that CANNOT be made based on the data

1. The protein is glycosylated in G4 and M-phase
2. The protein is glycosylated and ubiquitinated in M-ph

3. The protein is ubiquitinated but not glycosylatedb

4. The protein is not ubiquitinated in Gy \

Options

8024375089. 1
8024375090. 2
8024375091. 3
8024375092. 4

Question Number : 83 Ques

Correct Marks :

4 Wr

n

S e

*

\Q\

¢

: 8024371273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

1
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Meoll H& H UM o dlc Teb UIEH &1 GHE! oy & 9859 digal 9 fagfed sid
U/ T | el e (FREgferRAe deaa! ¥ 3uhild 6y aul M oHaR
DI U Juddd [l gofl) & WedNRs d 3UdiRd &d UIdH & [d&G
wicReal 4 ¥ sare [ T | HEifdd UfiRey Ui gel| O

Pdarker G, M

-Ely + gly - Bly + gly e&
30 | —
|

mmﬂuﬁﬁﬁaﬁ%mmawﬂmmaﬁmm

3. M-3®T J Ui gfeaafeed & R
4. G, B UEH gfedgfeRad el & |

Options :

8024375089. 1 O
8024375090. 2 Q\

1. Gy TUT M-3a®1 § UIEH TR eiddiad & |
2 M- Wﬁﬁﬁﬁﬁﬁmﬁﬁawqﬁﬂﬁﬁ@%%

8024375091. 3
8024375092. 4

Question Number : 84 Question 8024371274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wr s:1
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Following statements were made about regulation of eukaryotic gene expression.

A, It is usually regulated at the level of initiation of transcription by altering the

chromatin architecture. O
B. The eukaryotic genome is divided into domains by insulator elements.
C. A chromatin remodeling complex binds to the promoter of a gene in sequence

specific manner.

D. Architectural proteins regulate gene expression by promoting DNA bending. \0&

E. The chromatin remodeling complex can alter nucleosomal architecture, but

cannot displace them.

The option with all the correct statements is O
1.A,B D CQ

2ACE

3.B,D,E 6
4.B,C, D
Options :
8024375093. 1

8024375094. 2 O
8024375095. 3 O

8024375096. 4 ‘\
Question Number : 84 Question Id : i@ﬂ Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : .
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goRaies o At & e & ooy 3 FE oy s |
A. HIYRUGY] U8 141 & §-Iae & 96ald & gRI 3aE- & YRS TR 1)

EUIECESGI] O
B. gHRAIeH ToiH @il dal gR1 ua! 8 fauiford gid 8
C. U iafe Uideuu Iy U o & 30 4 3HHH fafre gurrel ¥ ded
gl & .
D. a1 Gafdd Ui DNA TRIS & GfEd &a oiiF JHfieafda &1 oo @d 0
gl \
E. shiafeq ufaesqur Aty gfdaaias &f @a=1 H uRad- o mﬁ%mﬁuﬁo

faeTfud 781 &2 g&d |
vt 98! Hy=l g f[deed § - Q
1.A.B, D O

2ACE
3.B,D,E

4.B,C,D A
Options :
8024375093. 1 \
8024375094. 2

8024375095 3 * O

8024375096. 4 \

Question Number : 85 Question I 802‘3 ;1275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Mark:
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a

Contents in Column | and Il are with respect to bacterial transcriptional regulation.

Column | Column i

I. Positive regulation by cAMP|a. Ara operon

ii. Short abortive transcripts  |b.Lac operon O
iii. DNA looping c.Riboswitch C)

iv. FMN synthesis d.Transcription initiation ¢

Which one of the options below correctly matches contents in Column | with Column %&

1 ()= (b); (i) —(d); (iii) - (a): (iv) - ()
2. ()= (<) (i) = (b): (iii) — (a); (iv) —(d)

3. ()= by (i) - (@) (i) - (@ (- Q
4. ()~ () (- (@ G- b (V- () c |
Options :

8024375097. 1

8024375098. 2

8024375099. 3
8024375100. 4

Question Number : 85 Question Id : 802437127 xn Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1 ¢

\Q\

¢
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ICH | TYT || BT faug g Sianudd sea-d Haad & GaH 7 § |

g | GAGEH]

i) |cAMP BRI BRI&S 004 (@) |Ara HdTCid C)O
iy  [og Few uficd (b) |Lac TEITCi® K .
(i) |DNA FHU () [EEikag \@

(iv) [FMN S2d9or (d) |HTaEd R O

Fifded D W1 Ud fddbey dIcH | Tyl 1| & [a9g %] &l Geidbal §

87

1@ —(b) @i)—(d) (i) —(a): (iv) - (c)

2. ()= (<) (i) — (b); (ii)) - (a); (iv) —(d)

3. (i) = (b); (i) —(a); (i) — (d); (iv)—(c)

4. ()= (d); (i) —(c); (i) — (b); (iv) - (a)

Options : O

8024375097. 1

8024375098. 2 O
8024375099. 3 \
8024375100. 4 Q

Question Number : 86 Quest@ZXM 1276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wr&
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Which one of the fDHDwmg statements about eukaryotic RNA processing is

INCORRECT?

1. Termination of transcription occurs co-transcriptionally at the polyadenylation
site. O
2. Phosphorylation of the Ser 2 of the RNA polymerase Il CTD is required for the

recruitment of polyadenylation factors.

3. Polyadenylation requires both cleavage at the polyadeny-lation site and

& o
addition of poly A. 0
4. Xm 2 is the nuclease that degrades the cleaved RNA to release RN\

polymerase Il from the template.

Options :

8024375101. 1
8024375102. 2
8024375103. 3
8024375104. 4

Question Number : 86 Question Id : 8024371276 @pe MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 O
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YHRANCD RNA UHHU & FGH H DI 91 Uh DY Tad 67
1. 3JciEH &1 Y419 SgUsHe ®d 1R 8-Haa-adl 4 sidi 8|

2. RNA UICERS I CTD @& Ser 2 @1 BIBIRCHIU dgUs Hfdmil dR®I & O
AARIEU & oY 3Ma<aD 5 |

3. SgUSHIA®HRU & o Sglafieiay ®d W fdga a4l §g A (poly A) @1 GR C)
GHI @I Sa=gdmdl sidl g & .

4. Xrn 2 9% gFad © o fth 9id ¥ RNA TTETHRS (| & FHaRor & o fagferd RNA

o1 fauied HRAT g \
O
Options : OQ

8024375101. 1

8024375102. 2 6
8024375103. 3
8024375104, 4

Question Number : 87 Question Id : 8024371277 Ques @ CQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

o
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O

The following statements are made with reference to the fact that tRNAs are
known to possess T in their sequence.

A. RNA polymerase Il utilizes TTP as one of the substrates.
B. Like any other RNA polymerase, RNA polymerase Ill also utilizes rUTP but when

the RNA pol lll reaches a looped structure it binds to S-adenosylmethionine to 0&

methylate C-5 position of the incorporated U to result in a thymine in a\

co- transcriptional manner.
C. During transcription of tRNA genes at the designated positions, DQ

polymerase replaces RNA polymerase |l to incorporate T in t
transcript

D. A specific methyltransferase utilizes a methyl group don onst—
transcriptionally modify the specific U residues into T residu %

E. Uracil to thymine conversion occurs in a large number @f t in the TWC

loop.

The option with all the correct statements is \O
O

1. A and B only

2. B and C only

3.Cand E only

4. D and E only ¢
Options :

8024375105. 1
8024375106. 2
8024375107. 3
8024375108. 4
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Question Number : Sfaueggigﬁ ?&) a%ﬁgﬁ 1%‘? %eune% ion sf'typ W"M’to& qyp%%'%lﬁ?fﬁil?é Ccﬁ;[)aft (jues 9)%1 g’l%ggtory : No
Correct Marks : 4 Wrong Marks : 1

Fifed Tyl @1 39 9 & G5 o S99 741 76 (RNAs @1 30 STpH H T Bl

guIfed [P U gUSHI ST £ | O
A. RNA TS Il TTP &1 U BHiged & © J Ui & arar g | C)
B. {4l TUR RNA UIRIHS & ST, RNA TISiER (11 4t rUTP &1 SUdNT &dl &

U= dd 914 RNA pol Il Tt 9aBeR §-1de &l UIel @R oidl 6, I8 YHIa U & K
C-5 I Bl AR B & 11U 5- Ui Q dferar 8, uRumRey (b
TE-3fore UG U ygfie 3 ufawfaa g e | \

C. e Ryel W tRNA STHT & 3FJeRg- R, tRNA Wideid & 7ol JHTed
& [0 DNA UTRITERS RNA UIRITERS 11l I Ufa=10d #d1 6 |

D. Uth [a=IY BYIEeieiqmBs SHcia- URdld [aR19 U 3agal &l T 3agdl
- o 7T U HiYe THE Trdl &1 I9GRT &l gl

E. TWC % o tRNAs & f¥d g&01 § gIiie &1 s o 9

off Ul syl ¥ god fased &

1. hdcl A JUTB

2. Hae B AUl C

3. &dd C dUTE O
4. g D dUl E

Options : \O
8024375105. 1 Q
8024375106. 2

8024375107. 3

8024375108. 4

ion Id : 8024371278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
g Marks : 1

Question Number : 8
Correct Marks : 4

Leishmania majors

uSative protozoan parasite of cutaneous leishmaniasis,
resides and multiplies within the phagosomes of macrophages. Resistance to the

infection correlates very well with the development of a Th1 response. In order to
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prove this hypothesis, three groups of BALB/c mice were taken: control group,

IFNy ) group and IL-4 ¥/} group. All the groups were infected with L. mgjor and
then parasite load was measured in each group after 4 weeks. Which one of the

following results will justify the experimental outcome confirming the hypothesis? O

L,

- \(é&
O
)
: Control  IFNy/) L4 6
' S
- \O
O

*

\S

¢

Control  IFNY  JL-4

Parasite T

3 lnad
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Control  IFNyE/  IL-4¢F)

4, & .
Parasite \
4. load Q
Control  IFNYH)  IL-4t A E
Options :
8024375109. 1
8024375110. 2 \
8024375111.3 .
8024375112. 4 \
Question Number : 88 Question Id : iw% Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks :

AIHATT H9X (Leishmania mafér), HRUEES U3l TEdl

ggd &P & BraH! & aY1 9997 Hal & | WpHu § ufediy
U Th1 If6a 4 954 Yedalia g1 8 | 39 S[uYR &l S s &
f3T BALB/c TR &1 T HETIREE (control) THE, IFNy &) THE a1
IL-4 ) TE | L. major Y epftra favar a1 qun 5T 4 TwE & uEE

Td® T H Weidl YR @1 7194 & T | Freifea $19 @ we afom sEsron
@t ufP @ /U Ot Ewt &t 3fa fos s
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s . OO
\0o
Control [Ny IL-4¢ O
| <)
2
N ®
\O
.\O

¢

Control ~ IFNYF |14

Parasite
3 oad
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Control  FNytH 11461

Parasite
4. |oad

\
ﬂ N
Control 1Ny IL4H Q

Options :

8024375109. 1
8024375110.2
8024375111.3
8024375112. 4

Question Number : 89 Question Id : 8024371279 Qype MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 O
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Receptor tyrosine kinases (RTKs) form a large and important class of cell surface
receptors whose ligands are soluble or membrane bound protein or peptide
hormones. Which of the following statement is INCORRECT?

1. All RTKs are transmembrane proteins with extracellular ligand-binding site and < :O

a cytosolic domain.

2. Binding of ligand causes most RTKs to dimerize & .
3. Cytosolic tyrosine kinase phosphorylates a distinct set of tyrosine residues in

the cytosolic domain of the dimer. \
4. Adapter proteins and enzymes involved in signalling pathways bind to differ

phosphotyrosine residues via a conserved polypeptide domain call Q

domain.
Options : @
8024375113. 1
8024375114. 2 Q
8024375115.3
8024375116. 4 \O

&
Question Number : 89 Question Id : 80243 stion Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1 Q
L 4
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g-1d & forgds Haw! geiTa 41 fRiech o UidH a1 Ueiss s & | Feifea
DI G HYA TTed &7

1. Gt RTKs DIRHTETE G-t T TUT UH HIBIIcrdt UeT & Ty O

3, PIYBIAAT TR DS [§ad & DidIacdl Uaa § =i 3aadl & *
Uw fafare 9 & Bepied did @ |

URMEI UieH Bl O
2. B RTKs BT -1 & GIY AT 390 fgdd- & RS adl ol &
4.Wmﬁﬁamﬁamﬁﬁﬁ%ﬁﬂmqwﬁmﬁaéﬁﬂﬁﬂmfﬂﬂmu?\

5T sH2 U&E @ed &, & Rl 3l BRGeEIH saudl ¥ dyd 5

Options : OQ

8024375113. 1

8024375114. 2
8024375115.3

8024375116. 4

Question Number : 90 Question Id : 8024371280 ueCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
0\( >
L 4

QO
$$
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reference to characteristics o

glycosaminoglycans and proteoglycans, which are major constituents of
extracellular matrix. Which one of them is INCORRECT?

4,

. Glycosaminoglycans are very long polysaccharide chains composed of O
repeating disaccharide units of an amino sugar  and a uronic acid. C)

. Except for hyaluronic acid, all glycosaminoglycans are covalently attached to
protein as proteoglycans. & ¢

branched oligosaccharide chains whereas proteoglycans contain mor

. Glycoproteins contain less carbohydrate usually in the form of relatively ShDI‘t\

carbohydrate in the form of long unbranched glycosaminoglycan chains.
Like O-linked and N-linked glycoproteins, in proteogly
glycosaminoglycans are linked to serine or threonine and aspa ragib es.

Options :

8024375117. 1

8024375118. 2

8024375119.3 O
8024375120. 4 \

*

Question Number : 90 Question Id : 802 estion Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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f=ifea du=l B /ARG EIEARAEEGA aul Ufearags- & i & gy |
11 71, SN b areiaIfRIdT St &1 Us W Ued & | AHifdd o 91 U e “:f;:ﬁ\>
87
1. AP GIAACTS b U THIAI AT 9T U THHT 37 b Tacil SIgabiizs <::::E::,)
gl o Jfa &Y ueliiegs ga @ |

2. BIReRIH® 3 o Sffdfad, 941 s s AN d- Ul Saldgd- & odl q‘;‘
Tgudel ¥y Y UieH 4 9Sl gidl &
3. ﬁﬂﬁﬁﬁ?ﬁhﬂﬁffiiﬁiﬂiﬂﬁﬂirGﬁiﬁﬁqﬁTﬁfﬁfEﬂﬂiaa'Gﬁﬁﬁﬁﬁﬁaifﬁﬁﬁ%Bﬂ?ﬂ&ﬁfﬁ*FHI4~\-~
T 5H PlEeEac old ¢ VeI Uieararzd-l § o S=Iad
ARG IS Jaarsd & 0§ Hie oeeRse e ¢ |
4. 0-3TdG YT N-31dg TWIgdUIcH ofdl, Hifegiaga- # 4\‘;:\»
A E IS e O SUal P TuT TaReiE s@gal ii@g%‘iﬁii

Options :

8024375117. 1

8024375118. 2

8024375119. 3

8024375120. 4 O

Question Number : 91 Question Id : 80243“7 12@ n Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 \
@ ’
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Prostate cancer cells were treated with Drug A and Drug B in order to check the

efficacy of the drugs in arresting the growth of cells. The following results were

obtained:
Drug A Drug B O
Level oI'T Level nI‘T
EXpression expression *
I_| — — @
e 3 o b 2 9 o ob
“aﬁ'ﬂaqaeaﬁﬂ-ﬁgﬂ# S ¢ qe:\{'- @ Lﬁsﬂjebc #.Q-aﬁe W‘L o 1&“

Which one of the following statements is NOT correct? O

1. Drug A targets the Wnt signaling pathway but does not lead

2. Drug B targets the Wnt signaling pathway and leads to G cle arrest.

3. Both drugs A and B lead to cell death but targets diff optotic pathways.

4. Drug A kills cells via the mitochondrial- independ
Options : \
8024375121. 1 .
8024375122. 2
8024375123.3 \
8024375124. 4

*

Question Number : 91 Questi 28024371281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wron k
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DIfrdrel & S A (Drug A) TUT 36T B (Drug B) T IU=TRd fobar | e
TN U fhe 7

Drug A DrugB O

Level of T Level uET
EXpression expression *
@
;-]
27 e et 0% 2 ot 0%
AP g @ o Lﬁ" e o
e l® {}e‘ﬂ dz.gle“"

O € Q
f=ifted ®F 91 U@ &UH 9el el & 7 O

1. ST A Wt HadooH UY DI laid Bl & U= DIRIDISH &
&l |

2. Y B Wnt Goba GY &1 Aferd &Ydl & adl Gy % HIAc B PRE
CERI

3.ﬁﬁaﬁﬂfﬂﬁnamaﬁﬁ1ﬁﬁﬂw
GAIRIRETGI

4. 3fY A HIRABIH DI GABVIBI- T

Options : Q
8024375121. 1

8024375122.2
8024375123. 3
8024375124. 4

ﬁﬁm«aﬁﬁraﬂaﬂaﬁ%l

Question Numb
Correct Marks :

estion Id : 8024371282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
ng Marks : 1

4
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A transgenic mouse was generated for both heavy and light chain specific for
MHC molecule H-2K™ so that all the B cells in this mouse therefore had BCRs

introduced into mice bearing different MHC genotypes H-2K" and H-2K™™. With

specific only for H-2K™ and made only anti- H-2K™ specific antibodies. By
appropriate breeding, the H-2K™ specific immunoglobulin transgene was O
respect to selection of B-cells within the bone marrow of H-2K" and H-2K™" mice, C)

which of the following statements is correct?

1. In H-2K" mice, the transgenic antibedies will not be detected on the surface Df\@

any of the B cells

2. In H-2K™" mice, the transgenic antibodies will not be detected on thgs O
of any of the B cells.

3. In H-2K" mice, the transgenic antibodies will be detected on the surfface
some of the B cells but not released in the serum.

4. In H-2K™" mice, the transgenic antibodies will be detected ofjt ace of
some of the B cells.

Options :

8024375125. 1 O
8024375126. 2 \
8024375127. 3 . O
8024375128. 4 \

Question Number : 92 Question Id : fwﬁ Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : Y 3
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MHC 3] H-2k™ & foT 9=Iffd = qur oY y@al aFi & oY Ud URei-1 gl
a1 71 ford i 59 ge o 9l B SIRd181f § thad H-2«k™ o fore fa=ifid BCRs
© Yl &ad ufd H-2x™ faf¥me ufreltal a4dl 81 Sugdd UeieH & §RI, H-2K™

fafre ufdramaisgicH IR & Udh 3Rl MHC SIFURed H-2K" a4l H-2K™" O

1S 9 & YR BRI | H-2K" G H-2k™n el & oify Hea # B- wifRieprail O
T » god | FEifd R T $YT 9el & ?

L 2
1. H-2k" 9ol |, ol +ff B BIR®I18 & 788 TR UReiHT WioRaTal @ TE- -5l &

gl \
2. H-2k™n i &, it 1ft g DIfR@1ei & U8 W el uﬁ?&ﬁﬁaﬁrﬂﬁaﬂéb

Hull
3. H-2K" ol H, TS B BIASI131 & J66 W UReH! Uiawafal ﬁrﬁﬁﬂﬁ@@

URH # gad 8l gR 1
4. H-2k™"ggl H, T© B HIDI3] & I G UReiHT HicRaial |

Options : *
8024375125. 1

8024375126. 2 O
8024375127. 3 \

8024375128. 4 O

L 4
Question Number : 93 Question Id : M@ Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
4

Correct Marks : 4 Wrong Mag
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Following diagram displays the MHC haplotype of a heterozygous H-2%d mouse:

Maternal Kk Aukﬂk EukBk Dk Lk
O
Paternal C)
v | K¢l Aa®Bd|  Eodp?| DU L & .

How many types of MHC molecules will be expressed on activated macro ha@
(M) and a normal fibroblast (NF)?

1. Mg 8 ; NF 14

2 M@ 4; NF 6

3. My 14; NF 14

‘.)O

Options :
8024375129. 1

8024375130. 2
8024375131. 3 . O
8024375132. 4 \

Question Number : 93 Question Idg 8024 83 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Mar *
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Fifed 3 U fawagast H-294 g8 & MHC gwleizy (AU Uey) axiidl &

Maternal Kk AukBk EukBk Dk Lk O
MHC C)

Paternal

4
e | K¢ Aadgd|  Ealpd| DY| L \(&

i id JedHEBDIRIDT (Me) TUT Tdh AW Iy (NF) W fbaH U&R & M

HUL3HT Bt Sifredfad gFT 2
1. Mg 8 ; NF 14 Q

2. Mg 4;NF 6
3. Mg 14; NF 14
4, M 14; NF 8

Options :

8024375129. 1

8024375130. 2 O
8024375131.3

8024375132. 4 \O

Question Number : 94 Question Id : @84 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : .
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In C. elegans the SKN-1 protein controls the fate of the EMS blastomere which

generates the posterior pharynx. With reference to the above which one of the
following statements is INCORRECT?

1. The MS blastomere is able to generate pharyngeal tissue even in isolation. O

2. Embryos from skn-1 (skin excess) deficient mothers lack both pharyngeal
mesoderm and endoderm derivatives of EMS
3. Embryos which are skn-T7 null mutants will always make extra hypodermal (skin)

and body wall tissue. 0&
4. SKN-1 activates MED transcription factors whose level of activity controls the \

fate of EMS lineage O
Options :
8024375133. 1
8024375134.2

8024375135. 3
8024375136. 4

Question Number : 94 Question Id : 8024371284 Questt' @) Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 \
0\( >
L 4
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C ctogans (4. T PR S AP RS S R i, o comt 917021673266
<1l o o= T5 @1 a0 Sl § | SR & g5 # FH=ifdd @ 91 ts &y

T o7

1. MS BR®ES HE a1 H U 991 Iad! &7 ol s 9@ g | O

2. skn-1 (@ Hfc®) 30l 719 T IG~ YOI § EMs & SgaTaal T9-1 HEe-wR O
qY1 Sfd¥a® GHi @I HE Bl g

3. YOIl oIl a6 skn-7 YT SARG &, Had SAaRad SfERadIg (9H) T9T 68 R 3dd & ¢

CEIRI
4. SKN-1 MED 3f-Jtia" dRa] &l Tishd Bl ¢ forgd fham=iicdr &1 &R EMS \
Options :

dmadt & fafy & Aot st 2
8024375133, 1

8024375134. 2 6
8024375135. 3
8024375136. 4 Q

Question Number : 95 Question Id : 8024371285 @pe : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
0\( >
L 4
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Maternal effect genes are extremely important in establishing the antérior — posterior

polarity of the Drosophila embryo. Mutant phenotypes arise when genes of this family
are mutated. The following table enlists genes and phenotypes observed on mutation of
these genes but not correctly matched.

Gene |Mutant Phenotype C)

A. Torso |i. No abdomen, no pole cells

B. Vasa |ii.Defective oogenesis &
C. Oskar |iii. Head and thorax deleted \0

D. Bicoid|iv.No termini

Which one of the following combinations is correctly matched ? O
1. A -ii, B - i, C - iii, D - iv CJQ

2ZA-i,B-iii,C-iv,D-ii

3. A-iv. B=ii C=i D=iii 6
A A<iii Boiv.C-ii D =i
Options : Q

8024375137. 1

8024375138. 2 O
8024375139. 3

8024375140. 4 ¢ O

Question Number : 95 Question Id : f@ﬂs Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : .
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HIg BADBR S Sl YUl & HY-URd gadl & 0] & U 3 HedyU]
g | 39 WE & oiFl ®f SdRafad ®- d 3diad! a&uTEy U Bid & | FE

URUT 3 Sl & IARdd U=dld Uddiaid iy T T&uRey qul il bl gl HeH
Pd o R Ugl PHE I ¢ | O
S| SRl A&y C)

A E8T(Torso) . Jo¥ SURRT, Yd DIPT H{uRRYd ‘NN::;EE:E\»

B. @& (Vasa) i,  Algul SeA

C. HNGH (Oskar) iii. R aur g& faaifad QO
D. /9aa7UZ (Bicoid) iv. 3fded fqufyd 1‘::"
fyeifrd B U1 U 9oy gaRe & 7 ‘:Ei:’

1. A -ii, B -i, C-iii, D - iv ‘.;!ss)

2. A -i, B -iii, C-iv, D - ii

3. A-iv, B-ii,C-i, D -iii <:::’,

A A-ii, B-iv, C-ii,D - i “~\-

Options : *

8024375137 1
8024375138. 2 Q
8024375139, 3

8024375140. 4 ¢

Question Number : 96 Q Id : 8024371286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 W rks: 1
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The hedgehog pathway is extremely important in vertebrate imb development,

neural differentiation and facial morpho-genesis. In accordance with the above
statement, what would happen in mice that are homozygous for a mutant allele of

sonic hedgehog (shh)? O

1. Limbs would form normally but the mice would have facial abnormalities. C)
2. Midline of the face would be reduced and a single eye would form in the
center of the forehead.

3. Eyes would form normally but digits would be malformed. @Q
4. Mutations of shh may activate tumor formation if Patched protein can inhibit \
the Smoothened protein. O

Options :

8024375141, 1 OQ

8024375142. 2
8024375143.3
8024375144. 4

Question Number : 96 Question Id : 8024371286 Questi
Correct Marks : 4 Wrong Marks : 1

Soel'] UY HEEo] § UlG faom, diEer
10 31 HE QUi § | SWRITd DY B o1 I o o U
Jaiadl et TifTe 88T (shh) &

1. UTGI &1 91 734 B8R R g aTyTaEar grfi|

2. IEX B 9EE Bl &l IHPUTT & O H U U -7 fadbidd sl |

3. 3 &1 9 T34 B8R I 3RaTHIfa® gl

4, shh ¥ Idfadd iy $X Gadl & df¢ TS (Patched) UIEH
%{Smoothen SIHd &R b |

Option Shuffling : No Is Question Mandatory : No

Options :
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8024375142.2
8024375143. 3
8024375144. 4

Question Number : 97 Question Id : 8024371287 Question Type : MCQ Option Shuffling : No Is Questio andatory : No

Correct Marks : 4 Wrong Marks : 1
In Xenopus, the Noggin protein, accomplishes two major functions of the K ¢

organizer: it induces dorsal ectoderm to form neural tissues, and it dorsalizes
mesoderm cells. Which one of the following observations is correct with respect

to Noggin? O

1. If a plasmid clone expressing Noggin protein is microinjected into a lit

d

by lithium chloride treatment.
2. If a plasmid clone expressing Noggin protein is microinjectedii -treated

embryo which does not give rise to neural tube, it will re

chloride treated Xenopus gastrula, it should rescue the abnormalitie§ ind

abnormality.

o will show its
presence in all regions except the dorsal blastop

4. Microinjection of noggin mRNA into the e micn fated to make the
ventral part will promote its 1«.-'FmtraIizazir:m.o

Options : \

8024375145. 1 Q

8024375146. 2 P

8024375147.3
8024375148. 4

3. RNA in situ hybridization of noggin cDNA on Xenopu

Question Number ; uestion Id : 8024371287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : Marks : 1
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@???Q’F[Xenopus} # FifTE (Noggin) UieH e & ol ﬂﬂ@ﬁlﬁffﬁfﬁw

Td & I8 U dieu- iR @ dHd] $Had aH & e URd &d 8, a4 98
AR DIR@e B I §9d gl AnH @ ey o F=ifed oF a1 @@

HddidA Hel o7 O
1. 71 T AR Ui ot 3ifieuad @2 8 Uaod & @l [ifigH wikiss Iuaid C)

I IRS Al H geAsid: &9 fbgl 5, df SHe! [Aiigs kigs 3udRr URd

fawHaral 9 FRaTid S =gy | \é

*

2. TiE Ui FIH UIdH B ¥ oidd dY Ugod ol dl UV- JUIRd YUT H gaasia:
&t fovan o forae et el gl &l & df U fawwars ¥ e &at
3. 199 YUl WR IR cDNA BT RNA TIH (in-sitw)
Sufeyfa &1 gl waEt # SR Rar siddb-ax1 SRl @ |

4. I mRNA @ YU & 3R YT &1 & fog e e | ﬁ@?&ﬁ@
HYRDHU Bl UidIied DT |

Options : ®
8024375145. 1 \O

8024375146. 2
8024375147.3 .
8024375148. 4 \

Question Number : 98 Question Id : w& Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : Y 3

\@*
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Antennapedia protein expresses in the thoracic segment of the fly and not in the
head region. However, a dominant mutation of Antennapedia replaces antenna

with leg-like structure. O
The following statements were made with reference to Antennapedia: < :

A. In a dominant Antennapedia mutant, the Antennapedia gene is expressed in the

head as well as in thorax. 0&

B. In the Antennapedia mutants, the Antennapedia gene is expressed in hea \
region only and thus promotes leg-like structure in head socket

*

C. In addition to promoting thoracic structures, Antennapedia protein Digds
and represses the enhancer of homothorax and some other genes res@ for
ive

antenna specification. %
D. Antennapedia has no role in thoracic region specificati us recess

Antennapedia mutants show no phenotypic effect.

Which one of the following options represents rr@e (s)?

1. A only .

2. AandC

3.Band D \
4. B only

Options : ¢

8024375149. 1
8024375150. 2
8024375151. 3
8024375152. 4

Question Number : 98 Question Id : 8024371288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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ufeaTdifea uidH SoHad! & 98 s o 3ifiyondd gidl & oyl R uaa o 78]
oI T F27rai3ara! Ud UMIdl Safad 4fifeT & IR ¥ew W= ¥ uRadd
T O

A. T UHIE T=7raiSarSanadi 8, g==rdiisarsi— faR aur gl ag 4 <:)

3ifiead Bid & ﬂ‘;~><o

B. g=2gregr3aalddl 8, ==rdiiagrei- bad R & & o éTﬁﬂ?ﬁiﬁﬁﬁiﬁﬁT%‘§-~‘

dY1 39 USHR R TideT § I 922 U= & Uidified &d ol

C. 3&iig Yrg1el & Uidiied #34 & 3ffalad, g2=rgiiagruid= ‘::::’
D@ AR S Sl b ytiT & [ARAPHI0 & R Iaedl 8, 316 © x|

SYdl § a1 Gid Xl g

D. 38T v & fafdfpex & tfeardifsa &1 @ yia Tal o HUHTG!

greTriiegr3aiiadi ors ot deuuEdl uyE el a2id 8
fFifed o W T fdicd el $YH/HU &l o=idl ‘::;!’,
1. Bdd A

2 ATYIC . ‘:EE;:~>
3.BAYID ‘\-‘
4 Haa B *\‘:::>

Options :

8024375149 1 ¢
8024375150. 2

8024375151, 3

8024375152, 4

Question Numb&wstion Id : 8024371289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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The development of anthers and male gametophytes is highly conserved among
angiosperms. Following are some of the events associated with pollen
development, in random order.

(@) Microsporogenesis in pollen sac to produce a tetrad. < :O

(b) Asymmetric division forming immature pollen grain.

(c) Archespore division. @

(d) Division of generative cell to form two sperm cells.

(e) Callase digestion to form free microsperes. Q

development?

1@, (b) (d (d) (e
2.(c) (a) (e) (b) (d \O
(

3.(a) (d) (d). (b) (e)

4.(c). (e) (a) (b) (d) * O
Options : Q\
L 4

Which of the following option represent the correct series c@ing pollen

8024375153.
8024375154.
8024375155.
8024375156.

A W N ==

Question Number :,99'Question Id : 8024371289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : Marks : 1
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Hqaareigl H WIS 791 R GHDIRgal ®f f[Ga e Wigd gl Frifed
DS YL WRATHY o [da & T H 5, AFafd sa d |

(a) WIS 3 Tqe & F1afu & o quisE | O
(b) SURUTE W B P [T A fGHISH | C)
CEIT R & ¢

(d) I T BRI B §1 B RIY ST IR BT AU | \

(e) T THETeUS B & & forw das 9rE | O

f=iferd @19 o1 fos g e fGeT & SR & g1 &f 9ol

1@, (b (a9 (d) (e
2.(c). (a) (e} (b) (d)
(

3.3, (9, (@) (b), (o) A
400 @ @ O, @ Q
Options : \O

!

8024375153. 1
8024375154. 2

*
8024375155. 3 \
8024375156. 4 Q

Question Number : 100 Questio 8024371290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong

D
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O

Following are certain statements regarding C; C3 Cs and CAM carbon
metabolism in plants.

A. In C;3 cycle, one molecule of 3-phosphoglycerate formed during carboxylation
phase is utilized for the biosynthesis of sugars, fatty acid and amino acids

B. During C; cycle glycine is transported from peroxisome to mitochondria and &
glycerate is transported from peroxisome to chloroplast 0
C. The concentration of CO> in bundle sheath of C4 plants is several fold lo \
than the external atmosphere b

D. The stomata of CAM plants open at night Q
Which one of the following combination of statements is cmg?g

1. A and B
2.BandC

3. Aand D

4. BandD \O
Options : 'S O
8024375157. 1 \
8024375158.2

8024375159. 3

8024375160. 4 TS

Question Number : 100
Correct Marks : 4 W

n Id : 8024371290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Fifded 8 YA Uil 7 ¢, C3, Cq TUT CAM BTEH SUTTd B GH H § |

A. C; 9% H, PEIGIaH & GRM a4 gU 3-BIREBIeHe &1 Uh U] JDh, a1
¥ YT SHHHT Sl & SIgHRyr H Ugdd gl ol & O

B. C, U & GIRIM T34l & RYHRU WRAEHH 4 Hbftiel | qul femRre C)
B YR RAFHEH S gRaads A eidi & | &

*

D. CAM UYf &1 38 A H el gl 8 |

C. C, Ulel & elresa H CO, 1 Uiadl §Tg<l adiartl § &g A1 &H Bl 6 | \
et a1 i 2 1 0w AT T R 7 \Q:

1. AdUIB
2.BdUlC
3.ACQYID

GJO
&

8024375157. 1
8024375158. 2

*
8024375159. 3 \
8024375160. 4 Q

Question Number : 101 Questio 8024371291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong
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Following is the list of cellular responses of root hair to bacterial Nod Tactor and

timing of their induction, which may or may not be matched.

B. Ca®* spiking in and around root hair cell nucleus II. within 10 min

Response Timing
A. Membrane potential depolarization I. within 1 min C)O

C. Root hair growth perturbation, pause in growth, lll. over a period of

curling hours &
Which one of the following is the correct match ? \
1T.A-i,B-ii C-iii O
2.A-ii,B-i C-iii

3.A-iii, B-i, C-ii

A A-i,B-iii, C-ii

Options : 6

8024375161. 1
8024375162. 2

8024375163. 3
8024375164. 4 \O

Question Number : 101 Question Id : 802437 l®estion Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 :\

¢
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Fifded Tl ga af @1 Slidifitas Nod RS & 0T SIRIGE widfsar au 3-d
WdciH dlc @l GRIidl 8, ol GHIeId 8l AT -el Yl gl ¥dhd & |

A [Rre favd fagau i |1 min 3R C)
B | O BIR® da® H aul dRI @® Ca?®  [ii. |10 min & 363 K‘
c |gadH gfs oafdwy, 9fs o favm, dad ii.  [gel @I @Efy o O

T @ 9 0 981 70 o ‘Q\

1.A-i, B -ii, C - iii O

2. A-ii, B-i C-iii 6

3. A-iii, B -, C-ii

4. A-i,B-iii, C - ii

Options :

8024375163. 3
8024375164. 4

8024375161. 1 O
8024375162. 2
0\

Question Number : 102 Question Id.: 80‘4 71292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Mark:
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Plant growth hormone receptors, namely TIR1, GID1, COI1 and PYL1 were
knocked out independently in Arabidopsis plant. The resultant plants are named
as tir1, gid1, coil and pyl1. Which one of the following statements regarding the

above Arabidopsis plants is correct? O

1. tir7 is defective in ABA signaling while coi7 in gibberelline signaling
2. gid1 is defective in auxin signaling while py{1 in JA signaling

3. coi1 is defective in JA signaling while pyl7 in ABA signaling &
4. tir7 is defective in gibberellin signaling while gid7 in auxin signaling \
Options : OQ

8024375165. 1
8024375166. 2 6
8024375167, 3

8024375168, 4 ‘

y g" CQ Option Shuffling : No Is Question Mandatory : No

Question Number : 102 Question Id : 8024371292 Ques
Correct Marks : 4 Wrong Marks : 1

uey gfe emi wiRal S & TR, [QI'I Ul PYL1 DI ISR
(Arabidopsis) UTGY H a0 141 | gRom 9 ® tirt, gid1, coil

and pyl1 oG AHifdd far T | g & g5y o Feifed
©IH U Ut &Y Tgl 82

1. tir] ABA YdbaH o Ffeyui
2. gid1 AT YavaA
3. coil JA b o
4. tir1 efeA g

Options :

coi1 TsfeH dha |1

8 odld pyl1 JAGdd |
Sdfds pyl1 ABA Udha T |

B Fdld gid7 Hllegd b o |
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8024375166. 2
8024375167. 3
8024375168. 4

Question Number : 103 Question Id : 8024371293 Question Type : MCQ Option Shuffling : No Is Q@ ;;andatory : No
Correct Marks : 4 Wrong Marks : 1

*
Followings are certain statements regarding phytochrome-mediated signal K
transduction in Arabidopsis: \

A. phyA and phyD are photo-stable, while phyB, phyC and phyE are phote-labil

B. Prolonged light exposure and the conversion of PgA to PgrA ca )
concentration to drop.

C. Exposure of light and conversion of Py to Prg cause movement O
phytochromes from the cytosol into the nucleus. 6

D. phyB lacks nuclear localization sequence and depends ransporter protein
for nuclear import.

Which one of the combinations of above statements j

1. Aand B \
2. AandC * O
3.Aand D \

4. Band C Q

Options : .
8024375169. 1
8024375170. 2
8024375171. 3
8024375172. 4

Question Number : Question Id : 8024371293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Friod T8 BUT QTN (Aabidapes) Tl g Crat i e R SR Gy

A. phyA TYT phyD UBIRI-GEG &, Sdid phyB, phyC TYT phyE HHRI-HRRR B |
B. CIHdIe- HebIRT SHTGRUT YT PrA T PrpA H TUIARUN phyA F5dl & UdH dl O

U Hso § (AR A 8 | 14

PRUE | O
C. UhTRI TG0 TYUT Py B Prg H TUGRY] & HRUI UIGUAUid! & BifRdiaay &
D. phyB & Grge RIHGHR AIHH BI UG 5idl & a4l d&d H H1G1d & g \

gRae® U R AR sar g |
SWRIad BY & HH T TH Hd Jol o ?

1. ATYTB Q
2. ATYUIC

3.ATYUID O
4. BTUIC 6
Options : A
8024375169. 1

8024375170. 2 O

8024375171.3 \

8024375172. 4 O

L 4
Question Number : 104 Question Id :"80 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4
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The gene encoding for mevalonate-3-kinase is disrupted in a certain plant. Which

one of the following statements concerning the above plant is correct?

1. Mevalonic acid 3, 5-biphosphate will be synthesized, while there will be no
synthesis of Mevalonic acid 5-phosphate. O
2. Mevalonic acid 3, 5-biphosphate and Isopentenyl diphosphate will be C)
synthesized.
3. There will be no synthesis of Mevalonic acid 3, 5-biphosphate but Mevalonic K ¢

acid will be synthesized.
4. Acetoacetyle-coA and Mevalonic acid will not be synthesized. \
Options : :
8024375173. 1 O

8024375174.2

8024375175.3
8024375176. 4 ﬂ
Question Number : 104 Question Id : 8024371294 Questio Q Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
©s Ul HardiHe -3-Ble- & e - aid | IURIad Ul &
vl A FEfrd s e e P W 87, O

| AR 3 3, 5- RS 1 A R 7T AT o 5.

@1 Y9 T8l I
2. HaTdi-® 3 3, 5- [STprEhe SEBREhe &l Ty g |
3. HaTalfd o 3, 5- i el BT IR Haldi=d 3% &I
IO BT |
4, Ufeufafed-coa Sk ak R E R
Options :

8024375173. 1
8024375174.2

For Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266



8024375175, 3 For Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266
8024375176. 4

Question Number : 105 Question Id : 8024371295 Question Type : MCQ Option Shuffling : No Is Questi tory : No
Correct Marks : 4 Wrong Marks : 1

response. The following statements were made regarding signal transduction

Plants perceive effector proteins from pathogen to mount a strong defense &O

events upon perception of a pathogen.

A. Influx of Ca** and H* ions into the cell \
B. Influx of K™ and CI” ions into the cell
C. Efflux of Ca®* and H* ions out of the cell Q

D. Efflux of K™ and CI” ions out of the cell
Which one of the following combination of statements is correct7‘

1. A and B only
2. A and D only
3.B and C only

4. Cand D only O
Options :

8024375177. 1 O
8024375178. 2 \
8024375179. 3 Q

8024375180. 4

Question Number : 105 Questio : 8024371295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong s:1
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TR &Y & | U o o ek B3 UR Bl Il Gobd URTHA gemad & g5 o

fifeed ®yH a9 T |

A BIRET F Ca* aul H* G &1 3<idig O
B. BIR®I T K* TUT CI- TG T A<dig O

C. DITADHT & T8 Ca* TYUT H* - T P diedie

D. BITAPHT & 96 K* aUT CI- T &I digdig

FUH B FE P G AT T8l § ? \0&

1. AdUIB

2. ATYTD O
3.BTYIC Q
4. CTUTD

Options :

8024375177. 1
8024375178.2
8024375179. 3

8024375180. 4 O

Question Number : 106 Question Id : 802@7 1 e ion Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1 \

The action potential recorded f@e maker tissue (SA/AV node) of

mammalian heart is shown in the IID&@ng diagram:

ot N\ L\
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g \/
=60

c
b

S

On the basis of mechanism of generation of action potential in pace

maker tissue (SA/AV node), the following statements were proposed from the ¢

above figure @
A 'funny’ channels are activated at 'b’ \

B. Outward flow of K* occurs at ‘a’ QO

C. T- Ca™" channels are closed at ‘¢’ O

D. Fast Na* channels are opened at 'd’
E. The upward phase at 'd’ is largely due to inward move %"
Which one of the following combinations repr@ eft statements?

1.Aand B

2.BandC L 2 O\
3.Cand D \
4 DandE Q

Options : 'S
8024375181.
8024375182.
8024375183.
8024375184.

N O R S R

Question Number : Question Id : 8024371296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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WHYR gad & Tid FaEe Sad (sa/av HEE) T #fidied e 1 far faug
o+ a 7 & L 2
: >
-40 4
60+ 5 © \

Time O
ﬂﬁmmﬁmaﬁaﬁmﬁiﬁ%w&&nm&

HRE I = By wearfad feu e |
A. b T (funny) TUITET TRFA BIATE |

B.'a MK PIARI UG ol © | ®
CcRT-Ca* UG S oidl & | \O
D.'d WEANa* W @A EIZ | O

E. d’ TR 3{RIg! WIae] T&4adl Na* Y g gl
Fifed ®H W e Jd Idla @ EIT“I‘ 87

1.AdYTB
2.BdUlC
3.CdyID
4 DdYTE
Options :
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8024375182.2
8024375183. 3
8024375184. 4

Question Number : 107 Question Id : 8024371297 Question Type : MCQ Option Shuffling : No Is Q@ ;;andatory : No
Correct Marks : 4 Wrong Marks : 1

*
Some metabolic aspects of the Red Blood Cell (RBC) are proposed in the followin 0&

statements:
A. Synthesis of fatty acids does not occur in the RBC OQ

B. The pentose phosphate pathway is operative in the RBC
C. RBC cannot synthesize reduced glutathione (GSH)

D. RBC does not contain enzymes like adenosine d nd pyrimidine

nucleotidase \Q
T

E. NADH-dependent methemoglobin red‘uctaq is present in RBC
i NO

Which one of the following comgbi \
1.Aand B %
*

2.BandC
3.Cand D
4 DandE

correct?

Options :
8024375185. 1
8024375186. 2
8024375187.3
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Question Number : 107 Question Id : 8024371297 Question Type : MCQ Option Shuffling : No Is Question ry : No
Correct Marks : 4 Wrong Marks : 1

T Yad BIRMDT (RBC) & s IUdgdl Ugqsl of [+ dyHl H uxdrfdd foar mar & C)

A. RBC ¥ a7 37l &1 Y90 TS Bl § |

.
B. REC H Uiv Brethe Uy paiagiar g | \é

C. RBC 3{Ufdd eI (GSH) BT YRI5l &R Jabod] |

D.Rﬂcﬁm%@ﬂﬁﬁmtﬂﬁiﬁﬁqqﬁﬂﬁﬁ%@aﬁmﬁ
E. RBC & NADH- STHTRG HYAFGIH Y8acsl YU Suid gidl %l
fifeed ®F 91 U@ Jd 9l el o7

1. AdUIB
2.BdUlC

3.CdyiD O
4. DdYTE

Options : O
8024375185. 1 \
8024375186. 2 Q

8024375187. 3

8024375188. 4

Question Number : 108 n Id : 8024371298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 W rks: 1
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Insulin is a heterodimer made up of A and B peptide chains joined by the intra
and interchain disulfide bridges formed between amino acid of respective chains

as suggested below: O
A Ag Ayg
B. A7 B>
C. A Big

D. A5 Bys &
Which one of the following represents the correct disulfide bridges joining A and\@

B chains of insulin hormone?

1.A Band D QO
248 CandD

3.A Band C O

4B, CandD 6

Options : *

8024375189. 1

8024375190. 2 \OQ

*

8024375191. 3

8024375192. 4
*

Question Number : 108 Question Id :480 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

¢
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SfTRHET SFHCPISS Uq § IS §U A TU1 B UETSS Saasl o1 Ue f[quriaad &:

A Ag Ayy

B.4, B, O
C. Ay Byo C)

D. As5 B;5

i ®F 91 UE e g & A TY97 8 §GarH &1 Sie- ard 9eid 0&

SRUTHRS Ud @I G¥idl 87
1.A, BdYID

2.A CdUID O
3.A BOYUIC O

4 B, CdYID

Options : 6

8024375189. 1
8024375190. 2
8024375191. 3

8024375192. 4 \O

Question Number : 109 Question Id : 8024871estion Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 \

¢
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Fibrinogen, Factor |, is a soluble glycoprotein present abundantly in plasma.
Following biochemical characteristics are given below about this glycoprotein:

A. It is a dimer of the three polypeptide chains(A4 Bg )2 O
B. It is a dimer of two polypeptide chains(A, Bg); C)

C. The chains are covalently linked by 29 inter- and intra- chain disulfide bonds

D. The chains are covalently linked by 19 inter- and intra- chain disulfide bonds

Which one of the following represents a combination of correct statements? \0&

1. A and C
2.BandC

3.AandD

4.8 and D O
Options :

8024375193. 1

8024375194. 2

8024375195. 3
8024375196. 4

Correct Marks : 4 Wrong Marks : 1 ¢

\Q\

¢

Question Number : 109 Question Id : 802437 lﬁ\ion Type : MCQ Option Shuffling : No Is Question Mandatory : No
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A. Tg TIF UTIUETSS aenat (A, By y), 1@ Gad & |
B. U8 Gl UTCIULTSS 4@arstl (A, By), ®1U® fGad g | O
C. §AN 29 JR-TYUT MR- YT S UhIEs e+ § Yegaiel ¥4 4 9 gid O

gl
D. 4R 19 HR-aYT HicR-4Eel SEUchie a4 U Ygudel &9 9 9s 8ld &
g. &
frifehd 1T T U el B! BT Hel URdd Sl &7 \

TL.AdYUIC
2. BdylC
3AQYID

4 BdYID

Options :
8024375193. 1
8024375194.2

8024375195. 3 O
8024375196. 4

Question Number : 110 Question Id : 802 NQestlon Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Testosterone is a steroid hormone about which a set of statements are given
below:

A. It is secreted by Leydig cells of testes. O

B. It is secreted by Sertoli cells of testes.

C. It inhibits secretion of luteinizing hormone from anterior pituitary. & ¢
D. It does not inhibit secretion of follicle-stimulating hormone from anterior\@
pituitary. O

Which one of the following combinations represents correct statemerig ab8ut

testosterone? O

1. Aand C 6

2.BandC

3.Band D

4 AandD

Options : O

8024375197. 1

8024375198. 2 * O

8024375199. 3 \

8024375200. 4 Q

Question Number : 110 Questio 0?4371300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong
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SRR Ud WS BHH ¢ s 9% H ®YH! @1 Ue Wg Ad f6a1 T &:
A. T8 gUY & AfST SifIemrei gR1 Sifdd glai @ |

B. T8 QUUT & WeIa DITADIST gRI FAAd sial & | O
C. I8 3 Ui ¥ Yed G HISiiT 8- & Hid &l Adhdl 6 | O

D. T8 371 U@ ¥ Uew- S51ud gHi- & 9d & el Adbdl & | 0&
e B W1 U A SRR & 91 Gl Pl Bl URdd B o7 O\
1.ATY C

2.BTYT C Q

3.B8TYT D

4 AU D

Options :

8024375197.
8024375198.
8024375199.
8024375200.

A W N ==

\O

Question Number : 111 Question Id : 802 Qestlon Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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A scientist synthesized four new chemicals which had mutagenic potential and

named them as C1, C2, C3 and C4. He tried to analyse the nature of mutations

caused by them and obtained the following results:

Mutations Mutation reversed by *
produced by
mutagen 2-Amino  |Nitrous Hydroxyl Acridine
purine acid Amine Orange O
C1 Yes Yes Some No Q
Cc2 No No No No O
C3 Yes Yes No No
C4 No MNo No Ye

Which one of the following answers degcri

the chemicals?

1. C1 causes transitions, C2 causes transv

transitions and C4 causes single

QO

genic potential of

deletions, C3 causes

ions or deletions

5 ,
2. C1 causes transversions, C2 causes t ‘- ions, C3 causes transversions and C4

causes large deletions
3. C1 causes large deletion

C4 causes single baseg
4. C1 and C3 causes

Options :
8024375201. 1
8024375202. 2

¢

s transitions, C3 causes transversions and

refons while C2 and C4 causes transitions
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Question Number : 111 Question Id : 8024371301 Question Type : MCQ Option Shuffling : No Is Questi tory : No
Correct Marks : 4 Wrong Marks : 1

U% Q1@ 3 IR T8 I BT G¥aiid far e IaRad 1o &Ml & 9ul 3931 O
C1, C2, C3 AU C4 1Y AH1idhd 41 | d 349 gRI 814 dlcl 3dRad! & Hdld &1 &0
& far ayt = afoner & urg
TR S B % A e e \
aRI Jdiiad O
SaRad (U FEeE [pESiieaa  [uiefEd oRw
RIRA R (U
C1 Fl &l DB
c2 Tel Tl Te!
C3 Bl Bl ' '
c4 Tel Tl o é gl
A=ied S 91 TP I TagHt &1 B! afvld Bl o7

1. C1 AT (transitions) Eﬁ?ﬂ =, C2 (trans- versions) 4l SRl

faaio= BT §, C3 T THHU Qigle a%f 4 T Uwa &R Faer o fadioe g g |
2. c1 ¥ ZOada BT 2, Co ATBE B 2, €3 ¥ Tiuad a1 & auT o4 I e
fae- i g |
3.c1 U famma fa 2 Y UHAV B, C3 W uag-geiar g aurc4 9

U] &1
4.C1aurc3 ¥
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8024375201. 1
8024375202. 2

8024375203. 3
8024375204. 4 O

Question Number : 112 Question Id : 8024371302 Question Type : MCQ Option Shuffling : No lg Mandatory : No
Correct Marks : 4 Wrong Marks : 1 *

Fertilization of gametes containing chromosome with duplications or deletions\@
often results in children with disabilities. ~ What is the probability of a cou

where the male is karyotypically normal and the female has a pericentrigin D

in heterozygous condition producing a child with disabilities if crossing%

place within the pericentric inversion in 26% of meiotic divisions?
In this case consider that fertilization with a gamete containgd mosomes
with duplications or deletion will result in disabilities. %

1. 26%

2.13% O
3.25% \
4. 50%

O
Options : Q\
L 4

8024375205. 1
8024375206. 2
8024375207. 3
8024375208. 4

Question Number : 1
Correct Marks : 4

tion Id : 8024371302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Marks : 1
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feauHT a1 oo ard ol ¥ gad gEel & Fuad ¥ 3d g 9=l H U
faepaiTant (3femar gt & | afe 26% il favrsmt # fafma ufd=i ufadm

@ 3G Bl & A Uo gTd oHH =R UREANEU! W & oYl J1al | fauagsi
awT & U URag] Uiaced ¢ df 99 Sdlied Ud g=d § fa@anand (31&Hd) O
g @I urafddl &1 gRit? C)

24 H1Hc H 98 AFGR 99 Id (97001 g1 [daiuHi are urgEl 9 gad gEd! & FHueH

g T (S1&HAIT) =T BT | &
fGPamTaTy (SHeHang) il @
1.26% O\

*

2.13%

3.25% Q
4. 50% O
Options :

8024375205. 1 6
8024375206. 2

8024375207. 3
8024375208. 4

Correct Marks : 4 Wrong Marks : 1 ¢

In D. melanogaster, traits 'a’, b’ mﬁult from recessive alleles that are
located on one of the autosomesg The r38llting Fq females were test crossed and

Question Number : 113 Question Id : 802437130\i0n Type : MCQ Option Shuffling : No Is Question Mandatory : No

the following progeny (total of were obtained:
a b*ct 350

abc 25

a b c

a b*ct 35
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a b'c 100

abc 10
a bc 85 O
aFt ote 15

& o
The following conclusions were made from the above data: \@
A. The order of genes is a b c and the distance between a and b is 8.5cM. O
B. The order of genes is a c b and the distance between a and c is B.ECMQ
C. The order of genes is b c a and the distance between b and c iséco
D. The order of genes is c b a and the distance between b and c\§ 8.
Which one of the following options represent statnemen‘t@&aF e correct?
1. A only O
2. AandD
3.Band C * O
4. D only \
Options : Q
8024375209. 1 ¢
8024375210. 2
8024375211. 3
8024375212. 4
Question Number,: uestion Id : 8024371303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 ng Marks : 1
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st fﬁ'ﬁ:fﬁ???{ﬂ. melanogaster) 1-}L, ﬁﬁﬂEHTE{ a’, 'b’ddl ' YU ?ﬂﬁﬂf{ﬂ@
I old & 9l foy S R 3df@yd 8 | U 9uU=d THgHel hoaHed! df Uh
JaRafad Sodaa 9 Sl &l a1 fomd gyt 3 faftmeans g1 oo F,
HTGTH! &1 URI&m TR0 SR 1 aul FH (@d 1000) Fafadi Ui b T OO

-6t 350

abc 25 &Q
a b c 380 @

a b c 35 \

.t ¢ 100 O

abc 10

F b 85 Q

a e 15 O

QWi sfibs! ¥ Fifaa ey Hard 1 6
A S B PHabcdUlald b & dld &I gl 8.5cM © | ®
B.WlH BT acb & a4l a Ud c & aid DI G4 8e5c
c.Gﬁd’fﬂﬂfﬂfMﬁﬁﬂTbQ&%ﬁmaﬁ 1

DI @I ®HchbagddlbTdcd ScM B |

fpifeed &1F 91 U@ faded 3 o1 e2ifdl & ol Ul &2
TS

1. HAd A

2AQYUID

3.BdUrC

4. Had D $
Options :

8024375209. 1
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8024375211.3
8024375212. 4

Question Number : 114 Question Id : 8024371304 Question Type : MCQ Option Shuffling : No Is Ql@@ndatory : No

\' b& ‘
‘Q\O
G
Ag
\O°
\6\0

¢
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The table given below shows the Lod score values of three different pairs of genes
studied for assessing if they are linked pairs:

Gene Pair '1° Gene Pair 2’ Gene Pair '3’ O

Lod Score 1 2 3

The following conclusions were made from the data given above: \@
A.  For gene pair 1 the probability of the genes being linked is 10 tigne D
likely than them assorting independently. %
B. For gene pair 2, the Lod score 2 indicates that the probabi%@genes

being linked is twice more likely than assorting independently.

C. The genes of pair 1 and 2, can both be considered asdigk hile the genes
of pair 3 exhibits independent assortment.

D. The genes of pair 3 can be considered as Iir\o
Which one of the following Dpﬁsents statement(s) that is/are

correct?
1.Aand C Q
2.BandD *

3Aand D
4 Aand B

Options :
8024375213. 1
8024375214. 2
8024375215.3
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Question Number : 114 Question Id : 8024371304 Question Type : MCQ Option Shuffling : No Is Question Man ry : No

Correct Marks : 4 Wrong Marks : 1
F=ifed grult i fafi= Sfi9t & Sifsal & Lod Widi® Jod &I axiidl & o1 O
Y 39 &1d & G- & (AT {61 71 fb 4 Fgo Sifsyi & a1 el C)
Sl 1 | S egi 2 | S el 3 K‘
Lod TG 1 2 3 \
SR oAb e A P P Pl T, O

A SISl 1 & U SiHT & 9ga 8- &1 GRIaHl 3 Wad

10 THT & GHIA E |
B. SiHGial 2 & fAY, Lod Wi 2 g@ifarl & fa il & ggam %rm:n

dd HYHE B Y I THT 3Hfeh YHIT & |

C. SISl 19491 2 & o, GiFl B Geo-i JH S X ARTIE|
W HUHe S2idl & |

D. Waaﬁﬁﬁ%ﬁmmwo\
fifeed 1 U1 U [ddhed Y/ g ol f 9l 87

1TLAdYIC *
2. BdylD
3AQYID
4 AdYUTB

Options :
8024375213. 1
8024375214. 2
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8024375216. 4

Question Number : 115 Question Id : 8024371305 Question Type : MCQ Option Shuffling : No Is Questi@ tory : No

Correct Marks : 4 Wrong Marks : 1 C)
L 4

Gene ‘A’ in mouse is needed for its normal growth [normal size]. Mouse strains
with deletion in gene ‘A’ (A%") have been developed.

— N
— "

When the following cross is made

all progeny (both males and females) are of normal size.
When the F1, progeny with the following genotypes are cr-::
ey AdE| Ay AA O

50% of the progeny obtained are small in size.

The above observation can be explained O
1. Maternal inheritance \O

2. Maternal imprinting
3. Paternal Imprinting Q
4. Maternal effect

Options :

8024375217. 1
8024375218.2
8024375219. 3
8024375220. 4
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Question Number : 115o ggél on T C@ﬂ?ﬁ‘ﬁgﬁ ‘ QI%eStl(\)l{IS %y“ﬁ%’wﬂeefﬁﬁltq%ar Olﬁlﬂ?ﬁgc orNacis lelezg%n%a 6(saatory No
Correct Marks : 4 Wrong Marks : 1

o6 O 9 gfe [ HSR] & U H A° B H1ahSdl eldl &1 95l &I 3%l
I faeiad favar a1 fo o ‘A faaifa & (ads) O
e 7 YESBI01 BEl T C)

L 2
nggelg{ x.ﬁlﬁﬂ? ‘r225:5~>

gt dafadl (X ud gra1 aFh &1 HHR IH g1 9d i Syl are

F1 Haferal &1 T BT T O
:'f' .ﬁ.dﬂ'ﬂ‘xﬁ.ﬁg Q
50% Wt Ydfadl &1 ATER Bl & |
SIRIGd gdid- @I 3U4 aivid [6d1 o1 9@l & :

1. AP dFT

2. "Iqd HHDT O
3. Ugd HEdA

4. Higd UHId O
Options : \
8024375217. 1 Q

8024375218. 2

8024375219. 3
8024375220. 4

Question Number : 116 Question Id : 8024371306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : Marks : 1
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In a mammal, coat colour is governed by gene B, The coat colour is either black or
brown, depending on whether the genotype is BB or Bb. It is not known which of
these genotypes lead to the black and brown colours. The genotype bb results in
albino coat colour. Further, the genotype cc suppresses the expression of coat O
colour resulting in albino coat colour. An albino male was crossed with a brown C)

female and the resulting progeny had individuals with either black or brown coats.
From this observation it can be infered that the genotype of the male and female

that were crossed are: \®&

1. BB cc and Bb CC, respectively

2. Bb cc and Bb CC, respectively

3. bb CC and BB CC, respectively Q
4. bb Cc and BB CC, respectively

Options :

8024375221. 1
8024375222.2
8024375223. 3
8024375224. 4

Question Number : 116 Question Id : 8024371 XOn Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 \
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% YR H, SR (@rd) &1 31 o4 B GR1 Faf<d sid1 & | a0y &1 31 41
DIl & 3Ydl YR & ol b 39 a1d R AR 8 fob SliHu=u BB 2 9B © | 48 1 8l

¢ fb 37 ¥ ®H 91 SHUEY SId 9yl Y2 T BT SRS ol WHUEY bb Udd
(@Uidgi) HIERUI hl T U~ Bl & | dGURI, ST cc TR0 T & HfHaafad O
B Gd a8 URUMREEY 49d 1 &1 A0 30 eidl & | TF 4gd R @l O

*

TEEHR0N Y HIGT ¥ DAl T qUT uRonE! Hatadl # a1 df Sie a1 431 IR0 S
g3 | 39 JHdaild 4 g8 ey Fdbr ol Gbhdl & fov U 1l T/ R aul J1al &

@ WIS &
1. BB cc @41 Bb CC, HHIER O\

2. Bb cc @Y1 Bb CC, HHIR
3. bb CC TYT BB CC, HHER Q
4. bb Cc TUT B8 CC, HATTAR

Options :

8024375221. 1 6
8024375222, 2

8024375223. 3

8024375224, 4 \O

Question Number : 117 Question Id : 8024371 estion Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1 \

The diagram below shows the flora of the family Malvaceae. Parts of the

R4

diagram have been labelled fromW-D

'] ]
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e ’
) Ly

Py iy
:"""'r-.. T f C

o

Labels Floral characteristics
A i Monothecous stamens &
B i |Syncarpous ovary \®

C i |Epicalyx QO

D iv  |Fused sepals O

v |Apocarpous ovary 6

Which of the following combinations represent gll :: es between labels
and floral characters? \

1. A-iv; B-v: C-iii: and D-i * O
2. A-i; B-v: C-iv; and D-ii \
3. A-iii; B-ii; C-iv: and D-ii
*

4. A-i: B-ii; C-iit; and D-iv

Options :

8024375225. 1
8024375226.2
8024375227. 3
8024375228. 4
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Correct Marks : 4 Wrong Marks : 1
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8024375225. 1
8024375226. 2

8024375227. 3
8024375228. 4 O

Question Number : 118 Question Id : 8024371308 Question Type : MCQ Option Shuffling : No 1& Mandatory : No
Correct Marks : 4 Wrong Marks : 1 *

¢
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The following diagrams (A to D) show characteristic arrangement of stamens
within a flower and (i) to (v) enlist families of plants.

(el

i. Cucurbitaceae
ii. Fabaceae
iil. Malvaceae
iv. Asteraceae

v. Euphorbiaceae
Which one of the following options has es between the
}I’ !

arrangement of stamens and the families the

L 2
TA-wv:B—ii:C—i: D-1v

2A—-IB-iC—vD-ii \
3A-IB-iC—vD-i
4 A-v:B—i:C—ii:D-iv ¢

Options :

8024375229. 1
8024375230. 2
8024375231. 3
8024375232. 4
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Question Number : 118 Question Id : 8024371308 Question Type : MC(iJ ption Shuffling : No Is Question Mandatory : No
1

Correct Marks : 4 Wrong Marks :

9 3 (A ¥ D) U U T U] o1 A& fa=amy, aut ) 9 (v) Tl & @l O

CIR I EREEZGIR
O

*

I Wﬁ%\‘ﬂ ( Cucurbitaceae)
ii. el ( Fabaceas)
iii. ATead ( Malvaceae)
iv. Q’Ei_\‘ﬂ ( Asteraceae)
V. Tﬁﬁﬂﬁ ( Euphorbiaceae)
fifed foog U famen O doorl & fa=urg qur forg
@1 ¥el Ha &7

1. A—v: B—ii: Ciii: D - iv O\

2. A—iii: B—i: C—iv: D - ii *

JA-IB-iiC—vD-i \
4 A-vB-i:C—i:D-iv Q

Options : L 4
8024375229. 1
8024375230. 2
8024375231.3
8024375232. 4

Question Number : 119 Question Id : 8024371309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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The figure below shows reptilian skull types (A to C), class of organisms (i to iii)
and examples of animals (X to Z).

N
e O
S

N

DO
\\

correct matches between the three

Which one of the following optio
components?

LAY B, iii, Z; C i, X
2B, Y, ALX; G4
3.A 0 Z: B, iil, X
4. B, iii, Y; A, ii, X
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8024375233. 1
8024375234. 2

8024375235. 3
8024375236. 4 O

Question Number : 119 Question Id : 8024371309 Question Type : MCQ Option Shuffling : No 1& Mandatory : No
Correct Marks : 4 Wrong Marks : 1 *

¢
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Fifded Taes T3gU |iuSial &t UdR (A T ¢, oiidl &f 9ot ¢ ¥ iy, aul

gl P FaTERU (X H2) i & |
i. Diapsid X. lchthyosaurs C)
{ °
ii. Anapsid Y. Snakes O\

-

postar it
| BuEMEESl

~ .'

TAILY: B iii,Z: € X TS O
2.B,ii, ¥ A X: C,iii, Z \
3.A 0, Z: Biil, X CQ,Y Q
4.8,iii, Y: A ii, X: G, i, Z

Options :

8024375233. 1
8024375234.2
8024375235. 3
8024375236. 4

Question Number : 120 Question Id : 8024371310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
Column | Column Il C)

: . L 4
A |Taenia i. |Hexacanth K
B |Obelia ii. |Glochidiom :\

C |Unio ii. |Planula Q
D |Balanoglossus iv. [Tornaria O

v. [Miracidium 6
Which one of the following options represents all carr@s between the

Column | list names of organisms and column |l list stages in life cycle.

two columns?

B B C5 D \O
2. Aiii: B-ii: C-i; D-v O

3. A-i; B-iii: C-iip D-iv

.
AR BN I D \
Options :

.

8024375237. 1
8024375238. 2
8024375239. 3
8024375240. 4

Question Numbe 0 Question Id : 8024371310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266



For Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266

DICH | Siidl & A qUT BicTH || SiTa- 956 B a1l B Ydiag Bl g |

HicH | PiaH Il
A di-g (Taenia) I W (Hexacanth) O
B ST (Obelia) i. [@ifefadd (Glochidiom)

D aﬁ:ﬁ‘f’hﬁ'\qilﬁalano—glossus} Iv. GIEIEe (Tornaria)

V. EHEIECE] (Miracidium) EQ

ﬁ%ﬁqmwﬁmaﬁfﬁmﬁfﬁ?aﬂaaﬂﬂﬁﬁauﬁﬂ

1. A-i;  B-iir C-iii; D-w
2. A-iii; B-ii; C-i; D-v

3. A-ir  B-iii; C-iie D-iv

4. A-ii: B-v: C-iii; D-iv O
Options :

8024375237. 1 O
8024375238. 2 \
8024375239. 3 Q

8024375240. 4

Question Number : 121 Questio : 8024371311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong s:1

>
Cc  [@Faf (Unio) i [@aT (Planula)
o
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Given below are statements regarding apomixis, i.e. asexual reproduction through
seeds

A. Sporophytic apomicts often produce a mix of clonal and sexual progeny O

B. In gametophytic apomixis, the unreduced central cell gives rise to apomictic
embryo

C. In pseudogamy the endosperm is formed in the absence of fertilization \0&

D. Apomixis can potentially be used to maintain hybrid vigour over m@

generations Q
Which one of the following options represents the combina @a;
statements?

1. Aand C

2. BandC

3.Cand D \O
4.AandD O

correct

*
Options : \
8024375241. 1
8024375242.2
8024375243. 3 L 4
8024375244. 4

Question Number : 1
Correct Marks : 4

tion Id : 8024371311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
arks : 1
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A, S-3Rgg TS Ug: FeH ayl e dafadl &1 Ue Es SO &dl

|
B. JHD %G SIS H, HTddd d-aid DId] SHETeHHD YU ST~ B ¢ | OO

C. g™ | FueH & srufufa & yomiy o1 Hafr giar g & .
D.Waﬂﬁmﬁﬁwwaﬁaﬁ&ﬁﬁtﬂaﬁﬁwﬁﬂmﬁﬁﬁmm@

&l ol

T.AJQYUIC
2.BdUlC
3.CdUID
4 AdYID

Options :

8024375241. 1 O
8024375242, 2

8024375243, 3 O
8024375244, 4 \

Question Number : 122 Question Id : 8 ;1312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Mar ’

il ®H 91 U@ [ddcy 9] 98l &yl & 5 &I aidl 87 Q
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The linkage density in a food web is a function of the connectance and the

number of species in it. It is defined as the average number of feeding links per
species. Which one of the following would have the highest linkage density?

(2] (F)
L ® /@
(A) (o
()
:® ©
(a) (©
; ¥
G‘G \O

Options :
8024375245. 1

8024375246. 2
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8024375247.3

8024375248. 4

Question Number : 122 Question Id : 8024371312 Question Type : MCQ Option Shuffling : No Is Questi@ tory : No

@
O
G
\\6
\OQ
9

¢
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TS G 91 § Jeadl 99d Je-Saedl gyl 5795 Suyd Uaiadl &f 980 &l UH
Had ol S9®! Uld Ueid W0 $ol @i 3iEd 98 & ¥4 § gRyig foar T g1
fifeed i e | Haiide Seadl 94d sii? O

©
1. (8) / (E)

» © \(&
&) O
2(8 (&) (\)Q
® @ &
A S
A S

4 o
5 Q

Options :
8024375245. 1
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8024375247. 3
8024375248. 4

Question Number : 123 Question Id : 8024371313 Question Type : MCQ Option Shuffling : No Is Qu '@ndatory : No
Correct Marks : 4 Wrong Marks : 1

Ozone concentration in the atmosphere is measured in Dobson units (Du). An 2

ozone hole is said to have occurred when the concentration of ozone in th &
region falls below 220 Du. The diagram of the globe below shows the location of
three study sites. The table below it shows values of ozone cmncentrati@

recorded at the sites for two dates in 2009. Q

S. No. e Value:
30 Sept 2009
290
240
420
110
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Which one of the following options represents the correct matches between
the study sites and the recorded ozone values?

1. A-i; B-iii and C-iv : O

2. A-ii: B-iii and C-i
3. A-ii: B-i and C-iv
4. A-i: B-ii and C-iii

Options : @
8024375249. 1
8024375250. 2 QO

8024375251. 3

8024375252. 4 O

Question Number : 123 Question Id : 8024371313 Question Type : ption Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
L 4
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IIAaRu H IS B Gr%dl 81699 (Dobson) 3®13 (Du) B 9REIUR faedn Siar & |
U 91 ol & & ieH g e Fafu e giar s 9@ 39 &3 | Siei &f Irsan
220 Du T = I oA § | A fGan mn wie @1 TF 9 i e 7w @
S & | 39 -1 & 9ol 2009 3T &l fafiaf w fiyeRad e e oiem arsal
& o O QR & |

S. No. Recorded Ozone Values 6
30 March 2009 30 Sept 2009

i 270 290

i 400 240

] 450 420

v 250 110

O

=ifed ®F O Te faeey 3read & oyl Ao gedf & &g @

eI HA oI ? ¢
O
L

1. A-i: B-iii and C-iv
2. A-ii: B-iii and C-i
3. A-ii: B-i and C-iv
4. A-i: B-ii and C-iii
Options :
8024375249. 1

8024375250. 2
8024375251. 3
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Question Number : 124 Question Id : 8024371314 Question Type : MCQ Option Shuffling : No Is Question Man ry : No

Correct Marks : 4 Wrong Marks : 1 O

A population of crickets invading a new grassland showed a population growth
pattern as shown in the figure

& o

é @
EE .......... Carr‘vina cupacitv {K}
=
= O
é __'_,_,..-'-"'___""‘--._\___,_:-'—"__"'-\-u.,_\___,_,_o- Q
=
=

o Tirme = O
Following is the list of potential interpretations: 6

A. Environment is damaged due to population overshoof
B. The resources did not recover and population die

C. Carrying capacity is lowered due to shift in efWirog onditions.

Which one of the following options/combinat ptions can correctly explain
the cricket growth pattern? ‘\

1. A only

2. B only

3. A and C only ¢

4. B and C only

Options :

8024375253. 1
8024375254. 2
8024375255. 3

8024375256. 4
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Question Number : 124 Question Id : 8024371314 Question Type : MCQ Option Shuffling : No Is Question Mandat : No
Correct Marks : 4 Wrong Marks : 1

TP 1 9 W g6 3R 18 SRl & UD & i RE H g¥Y T §Ey & O
oI o gfg T | O

& R
..... Carrying capacity (K) \0
e T N
o Time —_— OQ

A, THEEAT DT 30U K DI HITHH 3 & DR R/ & gl
B. YUY U 98T ol gHl aUl SHEEd] Jod &l U &

C. TaraRviig gTard H fa¥410H & RO UleH &l

DYA/HYA B DH U FH T fadg IR il 9 aivfd

GEGIGH . O
1. Bdd A

2. $hddl B Q\
LATYUIC

4 BTYUIC ¢

Number of individuals

Options :

8024375253. 1
8024375254.2
8024375255. 3
8024375256. 4
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Question Number : 125 Question Id : 8024371315 Question Type : MCQ Option Shuffling : No Is Question Man : No
Correct Marks : 4 Wrong Marks : 1

Given below are the spectra of plant forms (on the basis of where the plants bear

their buds) in different biomes (A to C). ‘ ’:

4
errrrrn Y% of the various life forms in the &
80 L ectes world for comparison

Z _ [[] sof the total flora for cach plant form

=

5 60

3
Fut s 40

g

g 200 H

| — O

0 o
Huenmpm-m Hemicryptophytes  Theroplytes
80t : g

o
=]
=
=
=i
B S
: =
Q
o
=]
=3
¥
80 |
e
2
5 60
=]
—
C e 40}
i
=
8
EZD-

M
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0

Which one of the following options correctly identifies the biomes represented in

graphs A to C? O
1. A- Mediterranean; B- Arctic; C-Tropical C)

2. A- Tropical; B- Desert; C-Temperate .
3. A- Tropical; B- Temperate; C-Desert

4. A- Desert; B- Arctic; C- Temperate
Options : O

8024375257. 1

8024375258. 2
8024375259. 3 O

8024375260. 4

Question Number : 125 Question Id : 8024371315 Question Type.: Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

faft=1 Sfiad F (A to ) UIGU ¥4l &I gvf-Ue B D ™M

W fyTRd < geH &1 T 8

=
~ percent of total flora
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= 60}
E 1
S 40
B. :E: i
5 20 7
: /4
7 %
Phaenorphytes Hemicryptophytes  Therophytes &
L 2
aﬂ ! 0
L]
S
5 60r
s g
C. T 40t
: 7
§ 20 | g
* 172 e &
Phaenorphytes Hemicryptophytes Therophytes
fifeed ®1H I U fdded AT® A U ¢ H UeiRid SiaHf UgdH &l
87

1. A- HIERRIT: B- Jaik-4dIg: C- ' \O

2. A- SUHICHYIT; B- HEYH; C-Xdiwie
3. A- W@ AT B- LW C- BE
4. A- Y B- IaX-4dIT; C-

Options : ¢
8024375257. 1
8024375258. 2
8024375259. 3
8024375260. 4

Question Number : Question Id : 8024371316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are growth and survivorship curves.

A Growth curve B Survivorship curve 0
Carrying capacity

& G

Time Percentage of maximum life span Q

Select the correct combination of growth curves from figure A and Worship

Population size

Mumber of survivors

curves from figure B given above, that would best representr a tegies,
respectively.

l.r=aandK=bandn

2r=bandmK=aandl O
3r=aandm;K=bandn \
4dr=bandm:K=aandm

O
Options : :\
L 4

8024375261. 1
8024375262. 2
8024375263. 3
8024375264. 4

Question Number : 1
Correct Marks : 4

tion Id : 8024371316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Marks : 1
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2 9 quT SR o [ea T %

A Growth curve B Survivorship curve

e . C)O
N
2 3

Population size

MNumber of survivors

1 |
AR

Time Percentage of maximum life span

JWRIdd 34 A ¥ f& 9 aUT 3RW B ¥ Icialiiddl dsb & Held ol
il fob o He: ¢l k¢ Hifadl @ Saptear 4 ufaffa & |

l.r=ad¥dl: K=bd¥din 6
2r=bdiln K=adull

3.r=ad¥mK=bduln Q
Adr=bddim: K=adilm O

Options : \
8024375261. 1 Q
8024375262. 2

8024375263 3 *

8024375264. 4

Question Number : 1
Correct Marks :

tion Id : 8024371317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Marks : 1

The following four climatograms depict observation of mean temperature and
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depicts rainfall.

oc mm °ec mm

20t —" 7 “d2s0 25} E 1150

C 40
20
D i 1 .|.' S 1 D
Jan Jul Dec
Given below are five biomes:
l. Desert
Il. Savannah
Ml Tropical rain forest
V. Mediterranean
V. Conifer ecosyste
Which of the fo mbinations correctly matches the climatograms to

the biomes?

1. A-iv B-ii C-i
2 A-v B-iv C-ii D-iii
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3 A-m B-un C-1 D-iv

4 A-v B-iii C-ii D-i

Options :

8024375265. 1 O
8024375266. 2 O

8024375267. 3

8024375268. 4 & .

Question Number : 127 Question Id : 8024371317 Question Type : MCQ Option Shu s Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 O

S
\0<$\
9

¢
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Yld @1 AYHH B Gid & Said fag a1 991 DI G2id 8 |

il mm °C mm
A 40 500 B 50 300 O

[ 1 1 i 1 D- i @
@ Jan Jul Dec \

L+ ]
40 C - mim
20 / {1 \

Jan . Jul .- -.-“I.I.Jec
Hid g SilaE G T g
i TEYE

ii. GG

iii. SWIdIcdl qul 9

iv. YAEEREIg

v. Tipgel uii&yfae a<
=ifed & W Ug=g St 9§ Odidal § Hd &l 87

1. A-iv B-ii C-i -
2A-v B-iv C-ji

3. A-iii B-ii
4. A-v B -iii

D-i
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8024375265. 1
8024375266. 2

8024375267. 3
8024375268. 4 O

Question Number : 128 Question Id : 8024371318 Question Type : MCQ Option Shuffling : No g Mandatory : No
Correct Marks : 4 Wrong Marks : 1 *

A tree built using BLAST cannot be used to infer phylogenetic relationships. Given @
this, which of the following statements is NOT true about trees generated by \

BLAST?

1. It is based on a distance method, where alignment similarity scores areWged
cluster sequences

2. It is an exhaustive tool where similar sequences are found by |
matches between multiple sequences simultaneously.

3. The generated tree is unreliable because the algori i data base-
dependent

4. It is built by first performance seeding following | nts.

Options : \
8024375269. 1 ¢ O
8024375270. 2 \
8024375271. 3 Q
8024375272. 4

¢

Question Number : 128 Questio : 8024371318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wr s:1
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TSI T ol Yool & | $H] ¢dd U BLAST D1 SUTGRT dXds &1L 710 g& & TaH §

©IF 91 HUH Hel 78l 67

1. 98 Ut gdl UGld W 3M1Y1Rd &, ofei fb T¥@0 Gaeydl Sidh dl IUGNT Al O
@ Ggas &3 § fear a8 | O

2. U8 U HUD Y & Sgl GHH 3IshHl Bl U 1Y dgd FhH! & did b g+
Hdl & Eiee: wifud fGa S s | & 14

3. §TRIT 1T 94 HfARae-i gidl § Fifds & fafdl (algorithm) Jidat ﬁﬁMﬂ?\@
gIdT S | :

4. U8 Ugd &14-HeG dioguH e |IHE TE@u § daR 8idl © |
Options :

8024375269. 1 6
8024375270. 2
8024375271. 3
8024375272. 4

Question Number : 129 Question Id : 80243713 QType : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 'S
L 4

QO
$$
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Given below are names of scientists and phrases describing their work, which may

or may not be matched

MName of Scientist

Waork

i Wallace A, |Inheritance of acquired characters

i (Lyell B. |Natural selection is differential survival or
reproduction

iii  [Lamark C.  |Processes that alter the earth are uniform thr
time

iv  [Cuvier D. |Earth’s geology and natural history @een
shaped by periods of catastrophj ifction and
new creations

E.  |Ontogeny recapitulate

*

Which one of the following optionsY%g correct matches between the
scientist and his/her work?

T.i-& u-B, m-Civ-E
2.01-B: ii-C iii- A iv-D
3i-A -G iii- E v
4.i- E ii- D; iii- A

Options :
8024375273. 1
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8024375274.2
8024375275. 3
8024375276. 4

Correct Marks : 4 Wrong Marks : 1
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Question Number : 129 Question Id : 8024371319 Question Type : MCQ Option Shuffling : No Is Ql&@ﬂdatory : No

= e & 1 9YT 3% S @i giiid did dIed QU T g Wl [ Ha H g1 a1

Te sl g@de |
a9I® & af

i ared ( Wallace) A, [T T&mT & dRIFTd

i s (Lyell) B. [|UIpfdd Ul Hddhd Jaaiiadl
g

i [cH® (Lamark) C. [99g EUR @l H qrail
HEE HYRadIRid

iv [T (Cuvien) D. [g@l @l 4dd IGRIEEARN]
[EEGIERI & Pl gRI 1G]
TR b

E. @1 g adl &

fHifeed ®H I U faded G &Y &1 Yl Hd Ukdd Bl o7

T.i-A; ii-B; ii-Civ-E

2.0-B: ii-C i A iv-D

3.i-A -G - Ei

4.i-E ii- D; ijs

Options :

&.
O\’b
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8024375274.2
8024375275. 3
8024375276. 4

Question Number : 130 Question Id : 8024371320 Question Type : MCQ Option Shuffling : No Is Q@ ;;andatory : No
Correct Marks : 4 Wrong Marks : 1

In a population that is in a Hardy-Weinberg equilibrium, 40% of the plants are K ¢
recessive homozygotes and produce white flowers (WF). If the total number of \@

individuals in the population is 14000 plants, the numbers of homozygous
dominant red flowered (RF) plants and heterozygous pink flowered (PF) plants O
would be:

1. RF- 5600 PF- 1891 OQ

2. RF- 1891 PF- 6508
3. RF- 5600 PF- 6508

4. RF- 5145 PF- 8855 *
Options : Q
8024375277. 1 O
8024375278. 2 \

8024375279. 3 O

*
8024375280. 4

:8@320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
¢

Question Number : 130 Question I
Correct Marks : 4 Wrong Marks :
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s SHEE H Gl for gifS-fa-ast ararawar # 8, 40% Uit S{yHId] Gyl Ha=]]
H & U1 Ihg q8d (WF) SdIfad ®ed © | afg See | Sidl ®f dd 9% 14000

qref Bt df gEgEsl wHId! ofd gftyd (RF) Qe aur fausgssh et gitd (o) qef

1. RF- 5600 PF- 1891
2. RF- 1891 PF- 6508

3. RF- 5600 PF- 6508 &
4. RF- 5145 PF- 8855 \

Options :

8024375277. 1 O
8024375278. 2 O

8024375279. 3

8024375280. 4 6

Question Number : 131 Question Id : 8024371321 Question Q Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

You wanted to conduct Miller-Urey experiment gnd ified apparatus
with Tungsten electrodes. You heated the glass P0°C for 3 hours to

remove any organic contaminants. Gases‘NH and H; were introduced
followed by generating electric spark. Whi\ essential ingredients did you

forget to add?

1.05
2. H,0
3. HCN
4. CHO

Options :
8024375281. 1
8024375282.2
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8024375284. 4

Correct Marks : 4 Wrong Marks : 1

39 FERR-TY (Miller-Urey) WRT ST 9Te 9l 2Te- fdggdad 4 Jad Sididd C)
JUHR] @] IGAN BT AU Bid & da-1 d [t Hredi-e dgusl &l geH

& iU 500°C TR 3 9Ue & W T {11 NH3, CH,, CO T H, T &1 Ua= &l

a1 fihR [Aggdig SRl 30 a1 T/ 31U 1 U1 U6 A0S e bl @K
SIS Y A7 \

1.05
2. H,0
3. HCN

4, CHO

Question Number : 131 Question Id : 8024371321 Question Type : MCQ Option Shuffling : No Is Questi@ tory : No

Options :
8024375281. 1
8024375282.2

8024375283. 3 O
8024375284. 4

Question Number : 132 Question Id : 80243\Qestlon Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Given below are the few statements on concepts related to genome evolution.

A. Presence of introns in some chloroplast genes suggests that endosymbiosis

(leading to organelle evolution) occurred before loss of introns in prokaryotes O
and supports the hypothesis that genes originated as interrupted structures.
B. Negative selection is associated with increased rate of nonsynonymous

substitutions as compared to synonymous substitutions. .

C. Nucleotide substitution rates during evolution can be inferred from divergence &
of the sequences that are non- functional or neutral. \

D. Positive selection is associated with increased rate of nonsynonym
substitutions as compared to synonymous substitutions. @

Which one of the following options represents a combination of all IN R
statements?

1. A and C only
2. B and C only

3. A and B only A
4. Cand D only O

Options :
8024375285. 1

8024375286. 2 ¢ O

8024375287. 3 \

8024375288 4
.

Question Number : 132 Questio 024371322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong
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T T FaTa T 0T o s & des ey et S fes b oS

A. DS gRadd® ol H 3<H @I Uyl Uxdifad dal g [ sia-ggelia (3!
o HIa® [ddbYg ®f Ufdulied - dian)  WdbRale! § 3<Hi & dld gi- 4 Ugd
1 41 YT YT 39 HAYRY D] GHYUA B & Sl aaidl o 1o Sl &l S sHH-H O
T o g3 |
B. N ETH® R0 a1 RIMU=Tdl & qo-l H SHHd® ®IFEY-dl & d9¢ gu
R g GEEd g |

IS
C. HU® [GEY & GRH gloadiess Rl & &) ogmai ol 3i&m @ﬁ
YAl e &, 39 fodo O uRonfaa fear s gdar - & | \

D.WWWWaﬁwﬁ&mﬂmﬂaW%ﬁ@
RPAYTEETE |

F=ifed @ 91 td [Aeey 9 e YAl & 5d @ a¥idl 67 Q

1. AT ATUTC O

2. Hhad B auTC q )
3. Hdd A JUTB

4. FId CTUTD Q
Options : \O

8024375285. 1 O

8024375286. 2 *

8024375287. 3
8024375288. 4

4
Question Number : 133 Ques@&(ﬂ 1323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wr($
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Growth patterns of two species (grown alone or together) are shown in Figures A
and B.

100 ___ Species 1

: = O

o
|
|
<
2
%

X

8

100

50 A

Population size
el ™
%
1
]
|
|
Population size
LA
=
k'h
\
1
1
]

100

Time I,d?:]

Match the growth patterns with the of interaction represented by

them

1. A-mutualism, B-commensali ¢
2. A-competition, B-parasi

3. A-commensalism, ism

4. A-competition, partitioning

Options :
8024375289. 1
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8024375291. 3
8024375292. 4

Question Number : 133 Question Id : 8024371323 Question Type : MCQ Option Shuffling : No Is Ql@@ﬂdatory : No

\' b& ‘
‘Q\O
G
Ag
\O°
\6\0

¢
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&l yonfad &1 9 Weu (3dd a1 9y H [Jafad gu) oMl a aur 8 & fewamar

gl
A 100
100
50
50
0
0
= 100 g 100
o i ® 50
= 50 P — Il
=1 a '
£ g .
o ="
100

Time {days)

Time [grﬂ

I RI UKd gl Wey & 914 TeD UhR &

1. A-UEIURTRET, B-HgHifoar
2. A-Ufagifidn, g-ueiifadn
3. A-GeHIfSrdT, B-TegdmIfedr

4, A-Ufcgifdr, g-dareH faue=

Options :

8024375289. 1
8024375290. 2
8024375291. 3

O

&.

— Species 1
== Species?

&
Ko

Od §13U1

o
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Question Number : 134 Question Id : 8024371324 Question Type : MCQ Option Shuffling : No Is Question Man ry : No

Correct Marks : 4 Wrong Marks : 1 O
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A group of researchers are testing two new agents, M1 and M2 for their efficacy
in selecting transgenic plants. When they performed tissue culture experiments
using three explants, A, B, and C without Agrobacterium transformation, and
selected the regenerated plants on M1 and M2, the following regene-ration O

frequencies were obtained. C)
Regeneration frequencies (%) in presence &
of different concentration of agents \@

Explant M1 conc. (mg/L) M2 conc. (mg/L)
type

20 60 100 10 15 | 20 QO
A 44% | 21% Nil 8% Nil | Nil O

B 93% | 30% | 10% Nil Nil

C 1% | 42% | 18% | 15% | 9%

Based on the above data, which one of the fc:II

1. M2 is a stronger selection agent thanyﬂ t types A and B.
2. A concentration of 100 mg/L of M1 an of M2 can be used for

selection of transformed cells usi ype A.

3. Among the three explants, type Cis suitable at the tested concentrations
of M1 and M2 &

4. Use of M1 with explant the most ideal combination for selection of

transformants.

Options :
8024375293. 1
8024375294. 2
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8024375296. 4

Question Number : 134 Question Id : 8024371324 Question Type : MCQ Option Shuffling : No Is QuestiG tory : No

@
O
G
\\6
\OQ
9

¢
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39! B TP ol Gl 70 Gardl M1 Tl M2 B GRei-T Tidl & gA1d H 30! &l
@I Gdau & g & | 99 d diH Ddiddl (explants) A, B, Tl C &I I9GNT faH
E’m (Agrobacterium) U= & SHdd ggua U %Wmﬂﬁﬂ M1
Td M2 R H3dIGd Uyl @1 9419 fhdr df FHeifed gH3de IRaRd Wi b
T |

gerdl o fafi= Trsal @i Iuifd H gHadneH

SNER (%)
FaaE TBR || M1 Tl (ma/l) M2 Tl (ma/L) O\

20 60 | 100 | 10 | 15 | 20 Q
A 44% | 21% | A | 8% | U
B 53% | 30% | 10% | ¥
C 71% | 42% | 18% | 15 4%

2. Haldd UHR A BT JUGNT &d 5T M1 DRG00I g/L =l a4l M2 BT 15 mg/L
ol gl & |

3. TF Ddia®! & &, M1 TUT M2 TIN&K Trsdisil R C UHR Ta-H I o
&

|
4. FUMANGl & 9919 & Haldd UPR B & 91y IUURT  HEd 3MET
Y ¢ |

Options : $

8024375293. 1

\

G

*
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8024375294. 2

8024375295.3
8024375296. 4

Question Number : 135 Question Id : 8024371325 Question Type : MCQ Option Shuffling : No Is Qb@ndatory : No

Correct Marks : 4 Wrong Marks : 1
@K ‘
A It is driven by small interfering RNA (siRNA) derived from dﬂublestrandO\

RNA silencing is an important strategy to control viral infection in plants. The
following statements were made regarding RNA silencing.

form of viral RNA.
B. siRNA requires RISC for it function.

C. Many plant viruses encode proteins that act as suppressors of RNA gilencing.
D. Viral P19 protein activates RNA induced silencing complex. q

Which one of the following combination of statements is corre
1.A, Band C
2B CandD
3A CandD O
4 A Band D
Options : ¢ O
8024375297. 1 Q\
¢

8024375298. 2
8024375299. 3

8024375300. 4

Question Number : 135.Q Id : 8024371325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 g Marks : 1
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qref F fqumuaid deau o g0 o & Rna FRASH0 te Agayul gfdd g |
RNA FRG®R0 & g+ # = sy g9 Y |

A. g [quIU] RNA & fg-3oald w1 § gdiiGd Td/96H g4y & dld RNA O
(siRNA) J TTfcd gidT © |

B. siRNA @I 304 &1 & iU RISC D1 SHTd=GHdl gl © |

C. 3R UG ST W 51 Best St 8 b RNA FRRIER BRI & S & .
&R B 8

D. fauTy] P19 UIdH RNA TURG FRfawor affts of afba ol @ | \
®YAl B Hifdbd DIH U1 U Hd el o7 ‘:::,

1TABdYIC Q
2.B, CdUID
3.A, CdYUID
4 A BdYID

Options :
8024375297, 1
8024375298 2
8024375299, 3 \

IS

8024375300. 4

Question Number : 136 Question Id :480 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

¢
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One curie (Ci) is deﬂned as the quantity of radioactive substance having a decay

rate of 2.22 X 10'? disintegrations per minute (dpm). How much of counts per
minute (cpm) will be recorded for 100 pCi of *°P when measured in a scintillation

counter working at 50% efficiency? O
1.1.11 X 108 O
2.1.11 X 10°

3.222 X108

& .
4222 X10° (b
o

Options :
8024375301. 1

8024375302. 2
8024375303. 3 O

8024375304. 4

Question Number : 136 Question Id : 8024371326 Question Type : %ption Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U 3 (Ci) DI WSl vard o a3 &3 2.22 x 1912 (dpm) B,

& g1 R far S 81 100 uci 32 & (cpm) SHiciRad
U SITET afe SUHT AU 50% DHIEEHT TR TREERU U ¥
T4? IS

1.1.11 X 108 \

2.1.11 X 10°

3.2.22 X108 &

4,222 X10°

Options :

8024375301. 1
8024375302. 2
8024375303. 3
8024375304. 4
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Question Number : 137 Question Id : 8024371327 Question Type : MCQ Option Shuffling : No Is Question Man : No
Correct Marks : 4 Wrong Marks : 1
Given below are a few statements related to plant breeding and genetics: O
A. Non-random mating between individuals closely related to each other would C)
tend to promote a decrease in homozygosity at all loci. P
B. Quantitative traits are typically influenced by environmental  conditions to a

greater extent than qualitative traits.
C. The "over dominance” theory for explanation of heterosis assumes that i
heterozygote, only one of the alleles plays a functional role. rO
D. During domestication selected genes/traits show a decrease in diversit
Which one of the following options represents a combination of all WNCORRECT
statements?

1. A and D only 6
2B CandD

3. A and C only

4. B and D only \O

Options :

8024375305. 1 * O
8024375306. 2 \
8024375307, 3 Q
8024375308, 4

.

Question Number : 137 Questio : 8024371327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong s:1
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1 o B Uy Toa adl & Hatl d laar il & o

A. Udh gt ¥ gfeedl o d6fid Uahsd! & dig eiefess wH g4 fwiel )

GHYAAN & &R & HH ®- § el sid ol

B. URUmHTHS fafRmedt unds fafkmedrel @ go1 § UrEUdadl draarulig O
iRl o yuTiad 88 3| O

C. THAe @t oFre & foe - fd nvmefdar g 98 iRl sxaie o w@

*

favagdt & $ad U@ © gHdH ] dRiE® YS! HE Bl g

D. ‘:ﬁ@ﬂl (domestication) a%aﬂ:rgﬁaﬁﬂff/}‘aﬁmﬁrq ﬁﬁﬁﬁﬁ@lﬁﬂ% @Q
fFifid BF 1 e fad ey 9+ TTad oyl & Jd I il 82 \

1. Hd A TUID O

2B CdylD Q

3. dhad AT C O

4 HAA B AYUTD q:

Options : ®

8024375305. 1

8024375306. 2 O

8024375307. 3 \

8024375308. 4 'S O

Question Number : 138 Question Id Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks :

\@*
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Given below are a few terms in column™@ and column B.

Column A Column B O
A, |Cisgenics (i) Synteny studies C)
B. [Zinc-finger proteins (i) Linkage disequilibrium @
C. [Comparative genomics  (iii) Site-specific recombination \
D. [|Association mapping (iv) Use of endogenous plant genes O

and regulatory elements

Which one of the following options represents all correct m between terms
of Column A and Column B?
1. A- iv; B- iil; C- i: D- i O
2. A-iii: B-i: C- iv: D- i \
3. A- ii; B- iii; C- iv; D- i . O
4. A-i; B- iv; C- i; D- iii \
Options : Q
8024375309. 1
8024375310. 2 ¢
8024375311. 3
8024375312. 4
Question Number : uestion Id : 8024371328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : ng Marks : 1
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i BT A IR BN 50 B S AR e e VY

HIaq A HIiaH B
A ([T M (R s O
B. [|No-frudH (i) |[GeHdl HOEEaR] C)
C. [JaTid® il i) [eycI-fafdee gagieH @&0
D. |Hgdy® AFfZA iv)  |3fded uiey SfiFT 9y Fams \
3(gyal &1 U O
fFifea H 9 &1 91 Us fadcd Hiaq A TUT HIaH B & did & Ieql
Tl It Al URgd Rl 87

4, A-i; B- iv; C-ii; D-iii

1. A- v B-iii: C-i: D- i :E ,
2. A-iii: B-i: C- iv: D- i

§ o g i e s Q
Options : \0

8024375309. 1 O

8024375310. 2

8024375311. 3 \
8024375312. 4

Question Number : 139 Questi
Correct Marks : 4 Wron

024371329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
ks

Following are the tyfical™dot plots of cytometric data obtained from peripheral
white blocd cells:

PLOT 1 PLOT 2
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107
250 -
; .:5-‘.}.
. = 107_]
2001 - '!'.:ln )
i k e
b T o S
e —2E 10
LF]
100 " &
[+ 9

?

50 .
i 24

V] Ll 1 1 1

0 50 100 150 200 250 &
FSC-H FITC - anti CD8 \

R1 in plot 1 shows the selection window of cells which were furt
analysed based on immunostaining (plot 2). Analyze the given data and chdbse

the correct option representing the type of cell population in plcﬂ@( ed and
segregated in various quadrants of plot 2.
1. Plot 1= lymphocytes; Plot 2 — (A) CD4™ CD§" Q
(B) CD4- CD8* (C) CD4*CD& (D) CD4* O
2. Plot 1— neutrophils; Plot 2 — (A) CD4™ CO8x

TS
(B) CD4" CD8* (C) CD4* CD& (D) CD

3. Plot 1= lymphocytes; Plot 2 — (A

(B) CD4* CD§ (C) CD4 CU% (@) CD8™ CD4*
4. Plot 1= lymphocytes; Pl ) CD4™ CD8~

(B) CD4 CD8* (C) CD8 (D) CD8* CD4"

For Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266



Options : For Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266

8024375313. 1
8024375314. 2
8024375315. 3

8024375316. 4 O

Question Number : 139 Question Id : 8024371329 Question Type : MCQ Option Shuffling : No Q Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ﬁ%uﬁ%ﬂuaﬁamﬁ%ﬁﬁma@%&mfiﬁwﬁaﬁgaﬁﬁ\@

fear T &
PLOT 1 PLOT 2 Q
@ :"!t‘}
: : 2 .t;::. 1".1:'
it '?:u-_!.!'_.
c p
e i

.,_.
o
1

PE—anti CD4
o,

.,_.
=
]
-
oo
b
-

._.
=
i

- T '-i‘ .'-.;;
H ﬂl ."|| ?t.':
1] | T ] |
0 50 103 150 200 250 ]_I:I:I !
FSC-H FrT'C ants cDa 6

Hied 1 | R1 34 DifRa@redl &1 & ToH@T R T UfcRan SiRsH
3frefia famersor faam T fE® T TS| I fa=eiyu L quT 3ieig 1 H
HIB GYE & UBR Ul fafi= aqufal O 94 U 9yl gyamhd! &I -

lot2 — (A)CD4~ CD8~

(B) CD4~ C (Q) €D4*CD8~ (D) CD4* CD8™

2. Plot 1 = ~q&iThowd ; Plot2 - (A) CDh4* CD8*
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(B) cD4-CcD8* (C)CcD4*CD8~ (D) CD8 CD4~
3.. Plot 1 - TUIBIPIRIDT Plot 2 - (A) CD8* CD4~

(BYcD4tCcD8~ (O CD4A-CD8* (D)CD8 CD4* O
4. Plot 1 - THIBIPIRGT; Plot 2 — (A) CD4- CD8* C)

O

8024375313. 1
8024375314.2
8024375315.3
8024375316. 4
Question Number : 140 Question Id : 802437133pe : MCQ Option Shuffling : No Is Question Mandatory : No

(B) CD4~- cD8* (CQ)CD4* cD8~ (D) CDB8*CD4~

Correct Marks : 4 Wrong Marks : 1

5-end labelled probe are shown bel

‘ Q
The data from an S1 nuclease mapginE:M nt for a transcript mffg1 using a

w
Marker Probe Kidney
750 —
5(:'{] — | |
50| —
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150 —_— —

Following interpretations were made: & P
A. The liver RNA is 500 bp in length \@
B. The start site of the liver mfg1 transcript is 500 bp downstream of the 5' end O
probe. Q
C. The kidney makes two mfg1 transcripts, and the 3" end of one of the€e is
shorter than the other. cﬂ
Which one of the following options represents the correct cqgnbMati®n of the
interpretations?
1.A, Band C
2. A and C only \
3. B and Conly .
4. B only \
Options : Q
8024375317. 1
8024375318. 2 *
8024375319. 3
8024375320. 4
Question Number : uestion Id : 8024371330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : ng Marks : 1
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s 5-8R fafed duded (probe) 1 Ud Hfafafl mfgr & U START &b S1
gfaaus AFRE TERT § U sfide &I -iid G=Ial 11 §
Marker Probe Liver Kidnay O
I @

N ) Y &
. _ O\
w d{\
NPER—— )

N

A. TPd (liver) RNA Tals H 500 bp &1

B. TPd mfg1 VATl & 3R ®id Gudleis & @%\}Hﬂfﬂﬁ’%l

2 W[kidney}ﬁmfg?ﬂﬁﬁlﬁmﬁ‘w xﬁﬁa’@?m@fm%l
Prifea A B a1 Uo e (36 310 e = 2

1.A, B, T4l C

2. hdd ATYIC .
3. Hadd B AUl C

4, &dd B

Options :
8024375317. 1
8024375318. 2
8024375319.3
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Question Number : 141 Question Id : 8024371331 Question Type : MCQ Option Shuffling : No Is Question Man

Correct Marks : 4 Wrong Marks : 1 O

Given below is a schematic representation of a few restriction sites in the multiple

cloning site of a plasmid:

— ] | | &
I I 1 | I B

Hindlll Xhol Smal Psti
The recognition sequences of the above enzymes and their digestion patt O
are shown below: : < 3

\J

Hindlll : A'AGCTT Smal : ECC'GGG 6
TTCGA4A GGG 4CCC *
Xhol : C'TCGAG Pstl: C'TGEAG Q
GAGCT.IC GAC@
O
Which one of the following combin@@mes from the vector can be used

for cloning a DNA fragment obtaiged a al | (GYTCGAC) - Hind Il (GTYWRACQ)

fragment. ¢
1. Sma | - Hind Il|

2. Xho | - Pstl

3. Xho!l -Smal

4. Hind Il - Pst

Options :
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8024375322.2
8024375323. 3
8024375324. 4

Question Number : 141 Question Id : 8024371331 Question Type : MCQ Option Shuffling : No Is Q@ ;;andatory : No

Correct Marks : 4 Wrong Marks : 1
U WIieds (Ueod) & 950 A+ d & $@ Ufde- ®dl @ - oRfad e & *

I I I | I

Hindlll Xhol Smal Pstl Q
SWITd To3H! & TgdH aﬂwmwuﬁmﬁﬁmr@

9

Hindill : A'AGCTI' Smal : CCC'GGG
TI'CGAI‘A GGG‘E’EE
Xhol : C'TCGAG Pstl: C'T \0
GAGCT‘E
U® Sal | (GYTCGAC) - Hind Il (GTY U DNA TS I gdH & &
U Hare® ¥ UogHl &1 & o =5 IO H 1 o 9l 67
1. Sma | - Hind Il ¢
2. Xho | - Pstl
3. Xho!l-Smal
4. Hind Il - Pst |
Options :

8024375321. 1
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8024375323. 3
8024375324. 4

Question Number : 142 Question Id : 8024371332 Question Type : MCQ Option Shuffling : No Is Qu '@ndatory : No
Correct Marks : 4 Wrong Marks : 1

Given below is a schematic representation of the T-DNA region of a transgene K ¢
construct and the Southern blot analysis (using Pst | digested genomic DNA) o

five independent transgenic lines (labelled as A to E) developed using the

construct. The probe used for hybridization is shown as a black box below

construct (UT: Untransformed Plant) Q

Pstl  Pstl

P T P\\q’o

@é - -

Gene
]
UT A B C
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Based on the above data, which one of the following options gives the correct list
of single insertion transgenic events?

1. B and C only O

2. A, B and E only
3. A and B only

4. E only &
Options : @
8024375325. 1

8024375326. 2 O
8024375327. 3 Q

8024375328. 4 O

Question Number : 142 Question Id : 8024371332 Question Type : ption Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
L 4
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I T% uReiH FE &1 1-DNA 83 duT 39 FEi & g e [Asfad e 1
Ui Woa URMiH! a9 (A T £ S i) &1 96 sdle [a2auul (pst | UIid "l
DNA T 39 ®ih) P LW UidEy &g 141 5| eRfdssedd & e Iugn |
AT T Yudterd ! Al & i Ue Srar Site ST I T § (UT: SREUaRd O

. O
E 11 P & ’

LB Promoter Gene pA RB
O
e e s s s Y | Q

JWRiad Mdal & YR R, FHifdd @F 1 PIREIE
g1l @1 Ted i WeH &l o7
*
1. BB TUTC O
2. had A, BOUTE \
3. had A TUTB
4, HIAE .
Options :

8024375325. 1
8024375326. 2
8024375327. 3
8024375328. 4
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Question Number : 143 Question Id : 8024371333 Question Type : MC(&J Option Shuffling : No Is Question Mandatory : No
1

Correct Marks : 4 Wrong Marks :

Given below are the restriction profiles obtained upon digestion of a 4.8 kb

plasmid with four different enzymes (E4, Ez, E3 and Ey). O
Ey 48kb Ej+E; = 500bp + 43kb C)

E2 48kb Ey+E3 = 400bp + 44kb K ¢

Es 48kb E3+Ey =

2kb + 28kb \

By 48kb Eq+E4 = 19kb + 29kb
Based on the above information, which one of the following statemen Q{t?

1. E1 and E4 have two recognition sites each in the plasmid. 6
2. Ez recognition sequence is located between E; and E3,
wit

3. The sequence of recognition sites after digestion of th s h Ezis: E4-
Ez-E1.

4. The sequence of recognition sites after dige@ p id with Ezis: E+-

Ea B4,

Options : * O
8024375329. 1 \
8024375330. 2 Q
8024375331. 3

8024375332. 4 *

Question Number : 143 n Id : 8024371333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 W rks: 1
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TF 4.3 kb WIToHS (Uged) BT IR 34— ToHI (£, £, E; 9YT E4) © UEH & 304
T Ufda-=H @idl =g UeH fdai T el

By : 48kb  E;+E; = 500bp + 43kb O
E, : 48kb  E;+E3 = 400bp + 44kb C)

E5 :  48kb Es+Es = 2kb + 28kb & 14

B4 : 48kb  Eq+Es = 19kb + 29kb \0

IWRIdd a1 & YR TR, F=ifdd H 91 Uh HYH el 87

1. TS | Eq Whﬂ%%aqﬁaﬁ@lﬁ (recognition sites) gl Q
2. B, UgdH 3FJshH £, OYI E; & d1d H HaRud g O

3. WIToAS @1 £ ° UG- o URdld U ¥l &1 §9: £4-E2.FE1 ©

4, TS & E, 8 UTe & 9<ard UgdH Sl &1 $H: E-F3. 64 6

8024375330. 2 *

8024375331. 3 \
8024375332, 4 Q

Question Number : 144 Questio 80?437 1334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong

Options :
8024375329. 1 O
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The 'H NMR spectrum of 13CH;Cl in CDCl3 shows two lines (doublet, 1:1 intensity)
spaced 140 Hz apart. The carbon ('*C) NMR spectrum of the same molecule

shows four lines (quartet, intensity ratio 1:3:3:1). Both 'H and '3C have nuclear
spin quantum numbers | = 1/2. O

Based on the above information which one of the following options is

correct? & ¢
1. The multiplicity pattern observed follows the 2n/+1 rule. 0
2. The 'H-"3C coupling constant is different in the 'TH  (Proton)  and '3C \
(Carbon) spectra. O
3. The multiplicity patterns are a consequence of the difference in Q
gyromagnetic ratios of the 'H and '>C nuclear spins.
4. The multiplicity patterns are dependent on the Larmor precessi O
frequencies.
Options :
8024375333. 1
8024375334. 2
8024375335.3 O
8024375336. 4 O
Question Number : 144 Question Id :480 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¢
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digdn) a=ifar 81 4t ofv] &1 diad (13c) NMR 9ufshH IR 31T a=ifdl 8 a—g"ﬁ,fﬁam
HUTT 1:3:3:1). 'H TUT 3¢ Gl &1 AfHST Tl T / = lfz Bl SWiaa

Y1 & YR W F1fbd 1 91 s ey 9al 82 O

1. &1 741 9gad] W& 2n/+1 09 &1 Ua- Sdl @ | O
2. H-13¢ Uaee RIS 'H [@ieH) 9T 3¢ (@req) Waer | 74 2l
3. 9g0dl TWEU TH U1 3¢ & A1USIT Wbl & YUidadId UMl H 3R 31 U 0&

ORUMH B
4, dgaidl TEU TER (Larmer) TEEERUT SGRAT G Hdaiiiad gl ol \

Options : Q

8024375333. 1
8024375334. 2
8024375335. 3
8024375336. 4

Question Number : 145 Question Id : 802437133 .‘ : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 O
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Given below are a few statistical terms in Column A and their related features
and terms in Column B.

Column A Column B
A. | Standard (i) Measure of relative variability
deviation of given populations.
B. | Coefficient (i) Used to make inferences
of Variation about population means.
C. | Chi-square (i) | Positive square root of
test population variance.
D. | t-Test (iv) | Test hypothesis related to
categorical data from
inheritance studies.

Which one of the options given below correctly matches all items g7 Coltmfis A
and B?

1A= B=il, C-1i, D ~i
2.A-ii,B-iv,C-i D-iii
3.A-i0i,B-i,C-iv,D-ii
4 A-ii,B-i, C-iv, D-iii

Options :

8024375337. 1
8024375338.2
8024375339. 3
8024375340. 4

Question Number : 145,Question Id : 8024371335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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i DiaH A H 8 JiRa®iy Meaac ayl 34 Haftd fa=van ud eamafer

®icH B J UgH T T B

BHITH A BHIadH B O
ATFG i ol T SEEel & qeHEd TRagIRad a1 O
CERG qiEmr b |

T e T e e e & o

Tulich GG

g'ﬁﬁﬂﬁ iii. S GRadLiadl &1 YATS | O\

D.t- iv. TSR AT U U YT 7T 3fids! & aURT &

TRI&T U&7 § Gafdd|

TLA-iv,B-ii, C-ii,D-i
2ZA-i,B-iv,C-i D-iii

LASE Bl et Do O
A A i B s Dl \
O

Wﬁ@ﬁmwﬁwaﬁﬁnnwa%ﬁﬁaﬁﬂ@m
%? *

Options :
8024375337. 1

8024375338. 2 \
8024375339. 3
¢

8024375340. 4
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